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NEW QUESTION 1
- (Exam Topic 2)

A developer needs a list of clients connected to a specific device in a Meraki network. After making a REST API call, the developer receives an unfamiliar

response code. Which Cisco DevNet resource should be used to identify the meaning of the response code?

A. API documentation
B. Sandbox

C. Learning Labs

D. Code Exchange

Answer: A

NEW QUESTION 2
- (Exam Topic 2)
Which protocol runs over TCP port 23?

A. SSH

B. NETCONF
C.HTTP

D. Telnet

Answer: D

NEW QUESTION 3

- (Exam Topic 2)

A developer has created a new image to use in a Docker build and has added a tag for the image by using the command:
$ docker tag 84fe411926287 local/app:0.4

Which command must be executed next to build the Docker image using the tag?

A. $ docker build -p local/app:0.4
B. $ docker run -t local/app:0.4
C. $ docker run -p local/app:0.4
D. $ docker build -t local/app:0.4

Answer: D
NEW QUESTION 4

- (Exam Topic 2)
Refer to the exhibit.

l - hosts: servers
2 tasks:
3
4 - name: taskl
3 systemd:
& name: webexbot
7 state: stopped
8
9 - name: taskZ
10 apt:
11 name: teamsbot
12
13 - name=: task3
14 apt:
15 name: webexbot
16 state: ab=ent
1 purge: yes

A developer must integrate a bot with an internal communication app. The developer wants to replace the webexbot package with the teamsbot package by using
Ansible and prepares a playbook In the first two tasks, the playbook stops the webexbot and verifies that the teamsbot is installed. What is accomplished in the last

task of the workflow when the developer runs the Ansible playbook?

A. stops the webexbot service and uninstals it and retains its configuration files

B. installs the webexbot and retains the configuration files

C. uninstalls the webexbot package and removes its configuration files

D. searches whether the purge package is available in the repository and uninstalls the webexbot package

Answer: C

NEW QUESTION 5
- (Exam Topic 2)
Refer to the exhibit.
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Generating Client ID and API Key:
+ Log in to your AMP for Endpoints Console.
« Go to Accounts > Business Settings.
« Click Configure API Credentials under Features to generate the Client ID
and secure API Key.
Once you have the API client ID and API key, you can make the API calls as
follows:
https://<your client id>:<your api key>@<api endpoint>
Alternatively you can use Basic HTTP Authentication. Base 64 encode the
string “:*, and send that prefixed with the string “Basic” as the authorization
header. For instance, if your client_id was 1234, and your api_key was “atest”,
then it would be base64 encoded to "MTIzNDphdGVzdA==", and your
header would be:
Authorization: Basic MTIzNDphdGVzdA==
The documentation outlines how to use credentials for the AMP API Which script successfully performs an API call using basic authentication?
A)
import reguests
amp client i1d = 'alblc3d4e5fég7hB81930°
amp_login_password = 'l0gln_p@sswlrd’
url = 'htetps://api.amp.cisco.com/vl/version'
reguest = reguests.get(url,
auth=(amp client _id, amp login password))
print (request.json())
B)
import reguests
amp client i1d = 'alblc3d4eS5£f6g7h819350'
amp api key = 'alblcid4-e5£6-g7h8-1950-klllm3ndoSpé"’
url = 'https://api.amp.cisco.com/vl/version’
regquest = requests.get (url))
print (reguest.json|())
C)
iMport regquests
amp auth token = 'alblc3d4eS£6g7hB81970 kllim3ndoSpé’
url = 'https://api.amp.cisco.com/vl/version'
request = regquests.get(url,
auth= (amp auth_token))
print (regquest.jsoni())
D)
imMport reguests
amp client id = 'alblc3d4e3£f6g7h819350°
amp_api_key = 'alblc3d4-e5£6-g7h8-1930-klllm3n40o5p6’
url = 'https://api.amp.cisco.com/vl/version'
request = requests.get(url,
auth=(amp client 1d, amp_api key))
praint (request.yson{())
A. Option
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B. Option
C. Option
D. Option

Answer: D

NEW QUESTION 6

- (Exam Topic 2)

A company wants to accelerate the adoption of technologies that will simplify its operations. Staff have different skill levels and are looking for a single site to find
easy-to-consume beginner, intermediate, and

advanced multidomain use cases. Which site should be used?

A. DevNet Ecosystem Exchange
B. DevNet Automation Exchange
C. DevNet Creations

D. DevNet Support Forum

Answer: D
NEW QUESTION 7

- (Exam Topic 2)
Refer to the exhibit.

import requests
from requests.auth import HTTPBasicAuth
from config import url, username, password

response = requests.login(url, auth=HTTPBasicAuth (username, password), verify=False)
print response.status_code

The script returns an output of 401. To use the supplied URL. an HTTP GET request must Be sent with an Authorization header. The header value is a BaseG4
encoded concatenation of the username and password. Which action must be taken to return an output of 200?

A. Change the verify=False setting in the request to verify=True to enable HTTP Basic authentication

B. Modify the method from LOGIN to GET and supply the username ;password value as JSON payload
C. Verify that the username and password values imported from the configuration file ate still valid.

D. Insert an Authorization header with the values username password from the supplied configuration file.

Answer: C

NEW QUESTION 8
- (Exam Topic 2)
What are two properties of private IP addresses? (Choose two.)

A. They can be used to access the Internet directly.

B. They are more secure than public IP addresses.

C. They are not globally unique.

D. They can be repeated within the same local network.
E. They are controlled globally by an IP address registry.

Answer: BD

NEW QUESTION 9
- (Exam Topic 2)
Refer to the exhibit.

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 200-901 dumps in VCE and PDF From SurePassExam
Ll SurePass https://www.surepassexam.com/200-901-exam-dumps.html (406 New Questions)

API vl documentation:

Authentication and authorization: Bearer Token
Inventory endpoint: /api/vl/inventory

Method: GET

Response formats: text/html, application/json,
application/html

Token:
dXNlcm5ShbWU6cGFzc3dvemQ=

Api call:
GET /api/vl/inventory HTTP/1.1
Host: example.com

Response:
HTTP/1.1 401 Unauthorized

An API call is constructed to retrieve the inventory in XML format by using the API. The response to the call is 401 Unauthorized. Which two headers must be

added to the API call? (Choose two.)

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: BE

NEW QUESTION 10
- (Exam Topic 2)
What is the purpose of a MAC address on a network device?

A. unigue network address that identifies the network interface of a device
B. unique network interlace address that is provided by the DHCP server
C. unique hardware address that identifies the network interface of a device
D. unique hardware interface address that is provided by the central switch

Answer: C

NEW QUESTION 10
- (Exam Topic 2)
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Refer to the exhibit. A developer is creating a Python script to obtain a list of HTTP servers on a network named office_east by using the Cisco Meraki API. The

request has these requirements:

» Must time out if the response is not received within 2 seconds.

» Must utilize client certificates and SSL certificate verification.

» Must utilize basic authentication that uses a username of admin and a password of cisco.
» Must save the response to an object named response.

Drag and drop the code snippets from the bottom onto the blanks in the code to meet the requirements. Not all options are used.

import redgquests
from reguests.auth import HTTFBasicAuth
network = 'office east'
url = 'https://apli.meraki.com/api/v0/networks/{}/httpServers'.format (network)
= regueats.get (url=url, headars={ "Accept': "*/*'},
verify="/ete/pki/tls/certs/ca.pem’',
timeout= i
=('/etc/pkiftls/certs/client.pem’,
'/eto/pki/tls/certa/client.key'),
| i 3
auth= | ("admin', 'cisco'))
responsze.status code
i |
| token responses | 2
F, = = - |
| HTTPTokenAuth HITFBasicAuth | cert
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Text Description automatically generated

Reference:
https://community.cisco.com/t5/networking-blogs/authenticating-rest-api-calls-to-dnac-getting-started/ba-p/3658

NEW QUESTION 12
- (Exam Topic 2)
What is a benefit of test-driven development?

A. early customer involvement

B. increased code quality

C. faster releases that have minimal features
D. strict adherence to product requirements

Answer: D

NEW QUESTION 13

- (Exam Topic 2)

What is a benefit of organizing code into modules?
A. improves overall performance

B. reduces the length of code

C. enables code to be multifunctional

D. enables the reuse of code

Answer: D

NEW QUESTION 15
- (Exam Topic 2)
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In which two ways is an application characterized when interacting with a webhook? (Choose two.)

A. codec

B. receiver

C. transaction monitor
D. processor

E. listener

Answer: BE
NEW QUESTION 16

- (Exam Topic 2)
Refer to the exhibit.

Development Integration Testing
code
e
code
. code > code Blue Blue
code
_--"r. v
code

Which infrastructure automation method is shown?

A. Waterfall
B. CI/CD pipeline

NEW QUESTION 20
- (Exam Topic 2)
Drag and drop the code snippets from the bottom into the Python script to write API output to a csv file. Not all options are used.

#!/usr/bin/env python3
import csv
import json

import [

#Create a request to grab infe in api

response = reguests. (*http://api.zippopotam.us/us/80301"')
try:

with open{"80301l.j2on'; 'w') as ocutfile:
json.dump (response.json(), outfile)

print( .Json())

except Exception as e:
print (&)

with open('80301l.csv', 'w'] as cutfile:
jscn.dump (response.json(), outfile)

princ{respﬂnse.l |}
|re3ponse | |requeszs ! |request |
|get | |statu5 cod&' |3tacu3 |
A. Mastered

B. Not Mastered
Answer: A

Explanation:
Graphical user interface, text, application Description automatically generated

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 200-901 dumps in VCE and PDF From SurePassExam
Ll SurePass https://www.surepassexam.com/200-901-exam-dumps.html (406 New Questions)

NEW QUESTION 25
- (Exam Topic 2)
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Refer to the exhibit. What does the load balancer enable in the network topology?

I
[

A. hosted application to access Internet services

B. external requests to be routed to the application servers
C. workstations to access the Internet

D. application to access the database server

Answer: C

NEW QUESTION 29
- (Exam Topic 2)
What is the purpose of the first three pairs of digits in a MAC address?

A. defines a routing identifier for the client

B. indicates the IP address of the client in Hex

C. defines packet forwarding priority sent or received by the adapter
D. indicates vendor of the network card or adapter

Answer: D

NEW QUESTION 31
- (Exam Topic 2)
What are two benefits of model-driven programmability?

A. model-driven APIs for abstraction and simplification

B. single choice of transport, protocol, and encoding

C. model-based, structured, and human friendly

D. easier to design, deploy, and manage APIs

E. models decoupled from transport, protocol, and encoding

Answer: DE

NEW QUESTION 32
- (Exam Topic 2)
What are two use cause where webhooks are effective? (Choose two.)

A. Close a session with a web server after a specific amount of time.

B. Filter out information from a response to an API call

C. Change the response format or content type of an API call.

D. Inform a previously defined chat channel after a deployment fate.

E. Send an email to a customer of an online store after payment is complete

Answer: DE

NEW QUESTION 37
- (Exam Topic 2)
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Refer to the exhibit.
# base image
FROM alpine

# Install python and pip
RUN apk add --update pyZ2-pip

# Install python modules needed by the python app
COPY reguirements.txt /usr/src/app/
RUN pip install --no-cache-dir -r /usr/src/app/requirements.txt

#copy local files for the app to run
COPY app.py /usr/src/app/
COPY templates/index.html /usr/src/app/templates/

EXPOSE 8080

#run the application
CMD [“python”, “/usr/src/app/app.py”]

Which function does the EXPOSE line perform when building an image from this Dockerfile?

A. Local port 8080 of the container that launched with this docker image is accessible from co-hosted containers and external clients.

B. Local port 8080 is not reachable at all because no IP address is specified along with the EXPOSE command of the Dockerfile.

C. Local port 8080 is accessible from other containers running on the same docker host as the container that launched with this docker image.
D. Local port 8080 of the container that launched with this docker image is accessible to external clients.

Answer: C

Explanation:

By default, the EXPOSE instruction does not expose the container’s ports to be accessible from the host. In other words, it only makes the stated ports available
for inter-container interaction.

Whereas publishing a port using either -P or -p exposes it, exposing a port using EXPOSE or —expose does not publish it.

So, while exposed ports can only be accessed internally, published ports can be accessible by external containers and services.
https://www.whitesourcesoftware.com/free-developer-tools/blog/docker-expose-port/

NEW QUESTION 40

- (Exam Topic 2)

A new application is being developed that must be hardware independent. The application includes an administrative component which is accessed using a
Windows desktop GUI. Installation and management of the environment must be fully automated. Which application deployment type meets the requirements?

A. bare metal

B. virtual Python environment
C. container

D. virtual machine

Answer: C

NEW QUESTION 42

- (Exam Topic 2)

A developer creates a script that configured multiple Cisco I0S XE devices in a corporate infrastructure. The internal test environment is unavailable, and no
maintenance window is available to test on a low-priority production environment. Which resource is used to test the code before it is applied to the production
environment?

A. Code Exchange

B. Cisco DevNet Learning Labs
C. Cisco DevNet Sandbox

D. Cisco Support

Answer: C
Explanation:

Reference: https://developer.cisco.com/site/sandbox/

NEW QUESTION 43

- (Exam Topic 2)

Which tool is used to block all traffic to the domain by using a single API call?
A. Cisco ISE

B. Cisco Firepower

C. Cisco AMP

D. Cisco Umbrella

Answer: B

NEW QUESTION 44
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- (Exam Topic 2)

closs Native.Interface.FastEthernet

Bases: Entity |
Class Hierarchy: Native Interface FastEthernet

This class represents configuration data.

FastEthernet IEEE 802.3

| name(key) l
type: str
pattern: ([0-9]/)([0-9]/)([1-3][0-9]}4[0-8]|[0-9])(\[0-9] +)?

| description |
Interface specific description

type: str
pattern: * |

flowcontrol

Configure flow operation

type:

Flowcontrol

isis
IS-IS commands
type:

Isis

keepalive
Enable keepalive

type: bool

keepalive settings

type: KeepaliveSettings

Refer to the exhibit. Drag and drop the code snippets from the bottom to the blanks in the code to enable keepalive for the FastEthernet 2/0 interface. Not all

options are used.

from
from

ydk.services import CRUDService

ydk.providers import HetconfServiceProvider as nc

from ydk.models.cisco ios xe import Ciaco I0S XE native as model
ip = '10.10.20.48"
prtcl = ‘saht

user = ‘"developer’

paw = 'PEasW0OrD*

port = 830

provider = ncaddress=ip,
crud = CRUDService ()

| |

interface.names = '2/0°

if interface data:
print {"Keepalive is enabled."')
alaa:

print {"Keepalive iz not enabled.')

pOrt=port, usarnames=user,

pasaword=paw, protocol=prtcl)

interface data = crud.update(provider, interface)
interface data = crud.read(provider, interface) |

interface = model.Hative.Interface.FaatEthernet ()

|
|interface.heepalive = True
|
I
|

interfﬁcE.FaatEthernEt.keepalive_aettinqaikeepalive = Triue |

interface = model.Hative.Interface()

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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from ydk.services import CRUDService

from ydk.providers import NetconfServiceProvider as nc

from ydk.models.cisco io3 xe import Cisco IOS XE native asz model
ip = "10.10.20.48"

prtcl = ‘ash'

user = ‘developer’
paw = ‘PasSWOrD’
port = 830

provider = ncl{address=ip, port=port, ussrname=user, passawordepsw, protocol=prtcl)
crud = CRUDService()

interface = model .Native.Interface.FastEthernet ()

interface.name = '2/0°

[Lnturfacu,kEqulLvu = True

|interfac@_dnta = crud.read(provider, interface)

if interface data:

print ("Keepalive iz enabled.')
elae:

print ("Keepalive iz not enabled.')

interface data = crud.update(provider, interface)

|1nterfuce.5a:tEthernet.keepulive“:ettlng:.keepulive = True |

|interfnne = model .Native.Interface() ]

NEW QUESTION 47
- (Exam Topic 2)

A local Docker alpine image has been created with an image ID of a391665405fe and tagged as “latest”. Which command creates a running container based on

the tagged image, with the container port 8080 bound to port 80 on the host?

A. docker build -p 8080:80 alpine:latest
B. docker exec -p 8080:80 alpine:latest
C. docker start -p 8080:80 alpine:latest
D. docker run -p 8080:80 alpine:latest

Answer: D

Explanation:
https://docs.docker.com/get-started/02_our_app/

NEW QUESTION 52
- (Exam Topic 2)
What are two benefits of using VLANs? (Choose two.)

A. limits the devices that can join the network

B. segments the broadcast domain

C. extends the broadcast domain

D. allows all network devices to be accessible from any host on the network

E. enables the logical grouping of devices that belong to different Layer 2 devices

Answer: BE

NEW QUESTION 53
- (Exam Topic 2)
Which platform is used to programmatically create a space and invite users for collaboration?

A. Cisco Intersight
B. Cisco Finesse
C. Cisco Webex
D. Cisco UCM

Answer: C

NEW QUESTION 57
- (Exam Topic 2)
Why is refactoring done during test-driven development?

A. to enable larger objects and longer methods

B. to improve maintainability and readability

C. to ensure that the previous uses of the objects are explained
D. to ensure the duplication of essential code
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Answer: B

NEW QUESTION 60
- (Exam Topic 2)
Refer to the exhibit.

¢ @ http://example.com/index.php?user= <script>alert(l want to pass the DevNet Associate Exam.)</script>

This is not a secure web page. S Y
This page says

I want to pass the DevNet Associate Exam.

OWASP threat does this example demonstrate?

A. Broken access control
B. SQL injection

C. Man-in-the-middle

D. Cross-site-scripting

Answer: D

NEW QUESTION 63
- (Exam Topic 2)
Which HTTP response status code means “Forbidden”?

A. 500
B. 401
C. 403
D. 502

Answer: C

Explanation:
Reference: https://developer.mozilla.org/en-US/docs/Web/HTTP/Status/403

NEW QUESTION 65
- (Exam Topic 2)
Refer to the exhibit.

Local File Attachments

To send local file attachments, simply post a message by including your access token
in the Authorization header and the path to your local file with the files parameter.
Optionally, you can also include a plain-text message with the attachment by using
the text parameter. When uploading files directly from your local filesystem, your
request will need to be a multipart/form-data request rather than JSON

curl --request POST \
-—form “files=@/home/desktop/example.png;type=image/png” \
-—form “roomId=Y21zY¥2....." \
--form “text=example attached” \
https://webexapis.com/vl/messages

A developer needs to upload a local file by using the REST API. The developer gathers information according to the documentation and sends the request by
using the cURL command in the exhibit but gets an error code. Which action should be followed to get valid response?

A. change content type as JSON

B. add the authorization header with the access token

C. add a username-password combination to request command
D. change request method as GET

Answer: B
Explanation:

Reference: https://developer.webex.com/docs/api/basics

NEW QUESTION 69

- (Exam Topic 2)

A developer is working on a feature for a new application. The changes in the existing branch named ‘feat00304' must be integrated into a single commit with the
current working primary branch named 'prodapp411926287'. Which git command must be used?

A. git rebase --merge feat00304
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B. git merge --squash feat00304
C. git push --rebase feat00304
D. git checkout --squash feat00304

Answer: B
NEW QUESTION 70

- (Exam Topic 2)
Refer to the exhibit.

1 - hosts: servers

2 Lasks .

3

4 — name: taskl

2 apt:

6 name: apache?
7 state: absent
g8

) - name: task?Z

10 apt:

i % § name: nginx
12 state: present
15

14 — name: task3

1% apt:

16 name: "*"
17 state: latest

A developer must check packages on web load balancers that use nginx packages. The developer updates the servers as required in Ansible inventory and
prepares an Ansible playbook to automate this workflow on related servers. Which process is being automated by the Ansible playbook?

A. verifying that nginx is installed only if apache2 is unavailable on the system, and then updating all the other packages

B. verifying, without installing, that apache?2 is unavailable and that nginx is installed, and then updating the repository to the latest version
C. uninstalling the apache2 server, installing the nginx server, and then updating all the packages to the latest version

D. installing nginx, uninstalling apache2, and then verifying that the package repository is at the latestversion

Answer: B

NEW QUESTION 74
- (Exam Topic 2)
What is a difference between a synchronous API and an asynchronous API?

A. An asynchronous API can make offline calls while synchronous APIs do not have this capability.

B. Synchronous API calls are returned immediately while asynchronous calls do not guarantee an immediate response.

C. Synchronous API calls require an authentication header to be sent while asynchronous calls do not require authentication.
D. An asynchronous API can make a larger number of calls in a specified time period than a synchronous API.

Answer: B

Explanation:
Reference:
https://stackoverflow.com/questions/36213948/what-is-the-difference-between-asynchronous-calls-and-callback

NEW QUESTION 75
- (Exam Topic 2)
How are load balancers used in modern application deployment?

A. Allow traffic to continue as new compute units are brought up and old compute units are taken down.

B. Allow http and https traffic to continue as old compute units are discontinued before new units are brought up.
C. Turn off traffic and take down compute units, then update and bring the compute units back up.

D. Bring up new compute units, test the compute units, and switch the traffic from old units to new units.

Answer: D
NEW QUESTION 80

- (Exam Topic 2)
Refer to the exhibit.
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Traceback (most recent call last):

File “<stdin>"”, line 1, in <module>
NameError: name ‘requests’ is not defined
-

>>> response_data = requests.get (base_url + request_url, cookies=cookies)

A Python code has been written to query a device. The executed code results in the error shown. Which action resolves the problem?

A. import json

B. requests("GET", base_url + request_url, cookles=cookies)
C. pip install requests

D. import requests

Answer: D
NEW QUESTION 83

- (Exam Topic 2)
Refer to the exhibit.

=== README.md-repo 2019-10-06 21:15:59.000000000 +0100
+++ README .md 2019-10-06 21:07:35.000000000 +0100
@@ -88,8 +88,0 @@

LI

$#%# Troubleshooting

EEE CMake
R@ -1e2,4 +160,13 @@

E% References

+##% Mosguitto

+

+* [github] (https://github.com/eclipse/mosquitto)
+* [homepage] (https://moasgquitto.org)

+

+§§% MQTT

-

+* [organisation] (http://mgtt.org)
+

The output of the diff-u README.md-repo README.md command is shown. The original file was 165 lines long How many lines are in the edited copy of the file?

A. 162
B. 165
C.172
D. 173

Answer: C

NEW QUESTION 88
- (Exam Topic 2)

What is a functionality of the Waterfall method as compared to the Agile method for software development?

A. Waterfall increases agility to implement faster while Agile promotes reliability.
B. A phase begins after the previous phase has ended in Waterfall while Agile phases run in parallel.

C. Customers get feedback during the process in Waterfall while they can see the result at the end in Agile.

D. Requirements can be updated in Waterfall while in Agile it should be gathered in the beginning.
Answer: B

NEW QUESTION 89

- (Exam Topic 2)

What does a load balancer distribute in a network environment?

A. outgoing connections to the network

B. incoming traffic across multiple servers

C. different TCP connections to the routers

D. traffic in the network by leveraging the switch architecture

Answer: B
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NEW QUESTION 90
- (Exam Topic 2)
What is a benefit of organizing into modules?

A. improves collaboration of the development team

B. makes it easier to deal with large and complex systems

C. enables the code to be broken down into layers

D. enables the inclusion of more programming languages in the code

Answer: B

Explanation:
From Wikipedia (https://en.wikipedia.org/wiki/Modular_programming) "Modular programming is closely related to structured programming and object-oriented
programming, all having the same goal of facilitating the construction of large software programs and systems by decomposition into smaller pieces."

NEW QUESTION 91
- (Exam Topic 2)
Refer to the exhibit.

diff —--git a/ciscoaxl/axl.py b/ciscoaxl/axl.py
index bc7727e..dé6efdd 100644
-—— a/ciscoaxl/axl.py
+++ b/ciscoaxl/axl.py
@@ -99,7 +99,7 @@ class axl (object):
:return: result dictionary
e n
try:
- return self.client.executeSQLUpdate (query)
+ return self.client.executeSQLUpdate (query) ['return']
except Fault as e:
return e

diff ——git a/setup.py b/setup.py

index df79ef4..1470b05 100644

--— a/setup. py

+++ b/setup. py

@@ -5,7 +5,7 @@ with open("README.md", "r") as fh:

setup (
name="ciscoaxl",
- version="0.14",
+ version"0.141",
author="User 1",
author email= "userl@example.com",
description="Cisco CUCM AXL Library. Simple to use.",

Which two files are being edited in the unified diff? (Choose two.)

A. README.md
B. setup.py

C. axl.py

D. ciscoaxl.py
E. index.py

Answer: BC

NEW QUESTION 96
- (Exam Topic 2)
What are two key capabilities of Cisco Finesse? (Choose two.)

A. Finesse includes an RPC API that enables the development of custom gadgets.

B. Agents access Finesse from a browser without needing to install or configure anything on the client machine.
C. Finesse automatically collects telemetry data

D. An OpenDNS utility is preconfigured and ready to use on Finesse.

E. Gadget containers provide a seamless experience in a single user interface.

Answer: BE

NEW QUESTION 97
- (Exam Topic 1)
Which two statements describe the traits of an asynchronous API call? (Choose two.)
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A. The order in which API calls return can be guaranteed

B. A call to an API does not block the code, but rather it allows application processing to continue
C. The end user can experience latency or performance lag while waiting for the API call to return
D. Code execution blocks or waits for the call to an API to return.

E. A callback function typically is used to process the response from an API call

Answer: BE

NEW QUESTION 98
- (Exam Topic 1)
Which action resolves a 401 error in response to an HTTP GET that is issued to retrieve statement using RESTCONF on a CSR 1000V?

A. Change the HTTP method to PUT.

B. Change the transport protocol to HTTPS.

C. Check the MIMF types in the HTTP headers.
D. Check the authentication credentials.

Answer: D

NEW QUESTION 100
- (Exam Topic 1)
Which API is used to obtain data voicemail ports?

A. Finesse gadgets

B. Cisco Unified Communications manager
C. Webex devices

D. Webex teams

Answer: B

Explanation:
Cisco Unified Communications Manager (CUCM) provides API access to data management, call management, and voicemail integration. Source: Cisco DevNet
Fundamental Course: https://developer.cisco.com/certification/fundamentals/

NEW QUESTION 104
- (Exam Topic 1)
What are two benefit of managing network configuration via APIs? (Choose two.)

. configuration on devices becomes less complex

. more security due to locking out manual device configuration

. increased scalability and consistency of network changes

. eliminates the need of legacy management protocols like SNMP
. reduction in network changes performed manually

mooOmo>»

Answer: CE

NEW QUESTION 106
- (Exam Topic 1)
Which device is a system that monitors and controls incoming and outgoing network traffic based on predetermined security rules?

A. Switch

B. Router

C. Firewall

D. Load balancer

Answer: C

NEW QUESTION 107
- (Exam Topic 1)
Refer to the exhibit.

An administrator attempts to perform a GET using the Cisco IOS XE RESTOCNF API to return the hostname of a device. The sequence diagram illustrated the
HTTP message observed. Which change to the API request resolves the issue?
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A. Add Content-Type HTTP header with 'application/yang-data+json' using —H ‘Content-Type: application/yang-data+json’.

B. Use -u cisco: cisco instead of -u ‘cisco: cisco'.
C. Change the request method from -X "GET” to- X' POST".

D. Remove the -H "Accept: application/yang-data®/son’ HTTP header because it is not required.

Answer: B

NEW QUESTION 110
- (Exam Topic 1)

Drag and drop the functionalities from the left onto correct networking devices on the right.

ports are different broadcast
domain by default

Firewall

ports can be in the same
broadcast domain

Load Balancer

uses traffic inspection to make
routing decisions

Router

blocks networks traffic by default

Switch

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1-D,2-C,3-A,4-B
Reference: https://geek-university.com/ccna/broadcast-domain-explained/

NEW QUESTION 111
- (Exam Topic 1)
Which action does the Git command git merge allow the development to perform?

A. Combine multiple sequence of commits into one unified history.
B. Push changes to the remote repository

C. Switch between branches

D. Create, list, rename, and delete branches

Answer: A
Explanation:

Reference: https://www.atlassian.com/git/tutorials/using-branches/git-merge

NEW QUESTION 116
- (Exam Topic 1)

A Company is looking for cloud deployment which will use the on-premise infrastructure, is user self-service, and easy to scale. Which cloud solution should be

selected for these requirements?

A. multi

B. public
C. private
D. hybrid

Answer: C

NEW QUESTION 117
- (Exam Topic 1)
Refer to the exhibit.
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§ diff -ub fish.py cat.py

--- fish.py 2020-01-02 09:41:02.840000000 +0100
+++ cat.py 2020-01-02 09:41:06.8859999800 +0100
ge@ -160,11 +160,12 @8

Esingle request timeout.setter
def single request timeout(self, wvalue):
wanThe timeout (seconds) for a single HTTP REST API request, 'V
check type(value, int, optional=True)
- assert value is None or value > 0
- if walue is not None and wvalue <= 0:

self. single request_ timeout = value
fproperty

def wait on rate limit(self)
wwhAutomatic rate-limit handling.

+ raise ValueErrarl“single_request_timeout must be positive integer”)

The output of a unified diff when comparing two versions of a python script is shown. Which two “single_request _timeout ()"

A.
file: cat.py
160
161
162 def (self, value):
163 “““The timeout (seconds) for a single HTTP REST API request.””"
164 check_type(value, int, optional=True)
165 assert value is None or value > @
166 if value is not None and value <= @:
167 raise ValueError(“single_request_timeout must be positive integer")
168 self._single_request_timeout = value
169
B.
file: Ffish.py
160
161
162 def (self, value):
163 "““The timeout (seconds) for a single HTTP REST API request.”"”
164 check_type(value, int, optional=True)
165 assert value is None or value > @
166 self._single_request_timeout = value
167
c. file: cat.py
1s60
lel
162 def (self, value):
163 “““The timeout (seconds) for a single HTTP REST API request."”"”
164 check_type(value, int, optional=True)
165 if value is not None and value <= @:
166 raise ValueError(“single_request_timeout must be positive integer”)
167 self._single_request_timeout = value
168
le9
D.
file: fish.
160
161
162 def (self, value):
163 “““The timeout (seconds) for a single HTTP REST API request.”””
164 check_type(value, int, optional=True)
165 self._single_request_timeout = value
E.
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file: cat.py
172
173
174 def (self, value):
175 “““The timeout (seconds) for a single HTTP REST API request.™"”
176 check_type(value, int, optional=True)
177 if value is not None and value <= @:
178 raise ValueError(“single request_timeout must be positive integer”)
179 self._single_request_timeout = value
180
F. Option A
G. Option B
H. Option C
I. Option D
J. Option E
Answer: BC

NEW QUESTION 118
- (Exam Topic 1)
What are two security benefits of a Docker-based application?

A. easier to patch because Docker containers include only dependencies that the application requires

B. prevents information leakage that can occur when unhandled exceptions are returned in HTTP responses
C. allows for separation of application that traditionally run in the same host

D. natively secures access to secrets that are used by the running application

E. guarantees container images are secured and free of vulnerabilities

Answer: AC

NEW QUESTION 120
- (Exam Topic 1)
Which response status code is used by a RESTful interface to indicate successful execution of a request?

A. 200
B. 404
C. 405
D. 500

Answer: A

NEW QUESTION 122
- (Exam Topic 1)
Which two query types does a client make to a DNS server? (Choose Two)

A. AAAA

B. ACK

C. DISCOVER
D. Inverse

E. PTR

Answer: AE

NEW QUESTION 123
- (Exam Topic 1)
Which principle is a value from the manifesto for Agile software development?

A. adhering to a plan over responding to requirements
B. detailed documentation over working software

C. processes and tools over teams and inter actions
D. customer collaboration over contract negotiation

Answer: D
Explanation:

Reference: https://www.cisco.com/c/dam/global/en_hk/solutions/collaboration/files/agile_product_development.pdf

NEW QUESTION 126
- (Exam Topic 1)
Which two items are Cisco DevNet resources? (Choose two.)

A. TAC support
B. Bitbucket
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C. Sandbox
D. Software research
E. API Documentation

Answer: CE

Explanation:
Reference: https://developer.cisco.com/

NEW QUESTION 131
- (Exam Topic 1)
Which device is used to transport traffic from one broadcast domain to another broadcast domain?

A. load balancer
B. layer 2 switch
C. router

D. proxy server

Answer: C

NEW QUESTION 136
- (Exam Topic 1)
Which two statement describe the role of an artifact repository in a CI/CD pipeline? (Choose two.)

A. An artifact repository allows to compare and merge changes in the source code of files involved in a build process.
B. An artifact repository is needed only for CI/CD pipeline executed on a public cloud infrastructure.

C. An artifact repository provides traceability, search, and management of binary files.

D. An artifact repository is needed only for managing open source software.

E. An artifact repository stores files needed and generated during the build process.

Answer: CE

NEW QUESTION 139
- (Exam Topic 1)

The project is migrated to a new codebase, the “old_project” directory must be deleted. The directory has multiple read-only files, and it must be deleted

recursively without prompting for confirmation. Which bash command must be used?

A. rm -rf old_project
B. rm -r old_project
C. rmdir -p old_project
D. rmdir old_project

Answer: A
NEW QUESTION 140

- (Exam Topic 1)
Refer to the exhibit.

URL: https://<ASA IP>/api/access/global/rules
Method: POST
Payload:

{

“destinationAddress?”: |
“kind”: “IPvdAddress'’,
“walue”: “10.1.1.1”

b,

wremarks”: [ 1,

“active”: true

“permit”: true,

“sourceAddress”: {
“kind”: “IPv4Address”,
“walue”: “192.168.1.17

Response Status Code: 400 Bad Request

{“messages”:[{“level”:"Error”,"code”:"JSON-PARSE-ERROR", "details”:"
Unexpected character ('\" (code 34)):

What caused the error in this API request?
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A. The API resource does not support the POST operation

B. The API resource does not support JSON format payloads.

C. The submitted JSON payload includes a field that is not supported by the API resource.
D. The submitted JSON payload has a formatting issue

Answer: D

NEW QUESTION 143
- (Exam Topic 1)
Which model-driven programmability protocol does Cisco IOS XE Software support?

A. CORBA
B. SSH

C. gNMI
D. SOAP

Answer: C

Explanation:
Reference:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/1610/b_1610 programmability _cg/gnmi_

NEW QUESTION 146
- (Exam Topic 1)
Which platform has an API that be used to obtain a list of vulnerable software on user devices?

A. Cisco Umbrella

B. Cisco Firepower

C. Cisco Identity Services Engine

D. Cisco Advanced Malware Protection

Answer: D

NEW QUESTION 149
- (Exam Topic 1)
In DNS, which record specifies an alias that refers to another name that ultimately resolves to an IP address?

A. AAA

B. SOA
C.NS

D. CNAME

Answer: D

Explanation:
Reference: https://ns1.com/resources/dns-types-records-servers-and-queries

NEW QUESTION 151
- (Exam Topic 1)
Which network device monitors incoming and outgoing traffic and decides whether to allow or block specific traffic based on a defined set of rules?

A. switch
B. load balancer
C. reverse proxy
D. firewall

Answer: D

NEW QUESTION 152
- (Exam Topic 1)
Which two statements are true about Cisco UCS manager, Cisco Intersight APIs? (Choose two.)

A. Cisco Intersight API interactions can be encoded in XML or JSON and require an APIs key in the HTTP header for authentication.

B. USC Director API interactions can be XML- or JSON-encoded and require an APLs key in the HTTP header for authentication.

C. UCS manager APl interactions are XML-encoded and require a cookie in the method for authentication.

D. Cisco Intersight uses XML to encoded API interactions and requires an API key pair for authentication.

E. UCS manager uses JSON to encode API interactions and utilizes Base64-encoded credentials in the HTTP header for authentication.

Answer: BC
Explanation:
Reference:

https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/ucs-director/rest-api-getting-started-guide/6-5/cis
https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/sw/api/b_ucs_api_book.pdf

NEW QUESTION 157
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- (Exam Topic 1)
What are two advantages of YANG-based approaches for infrastructure automation? (Choose two.)

A. directly maps to JavaScript

B. multi-platform vendor abstraction

C. designed to reflect networking concepts

D. compiles to executables that run on network devices
E. command line driven interface

Answer: BC

NEW QUESTION 162
- (Exam Topic 1)
Which status code is used by a REST API to indicate that the submitted payload is incorrect?

A. A.-400B.403C.405D.429
Answer: A
Explanation:

Reference:
https://community.cisco.com/t5/application-centric/apic-rest-api-produces-inconsistent-response/td-p/2758230

NEW QUESTION 163
- (Exam Topic 1)
Refer to the exhibit.

List Rooms

List rooms.

The title ofthe room for 1:1 rooms will be the display name of the
other person.

By default, lists rooms to which the authenticated user belongs.

Long result sets will be split into pages.

/v1l/rooms
Query Parameters
Name Description
teamld List rooms associated with a team, by ID.
string
type List rooms by tape.
sting Possible values: direct, group
sortﬁy Sort results.
string Possible values: id, lastactivity, created
max Limit the maximum number of rooms in
number the response.
Default: 100

Fill in the blank to complete the query parameter and value so that the result set is returned in reverse chronological order (most recent first) based on when

message were entered.

HTTP GET /v1/rooms

A. Mastered
B. Not Mastered

Answer: A

Explanation:

S — T a
| F (s

H

p——y
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NEW QUESTION 164
- (Exam Topic 1)

A function my_func() returns True when it executes normally. Which python snippet tests my_func()?

&
def test_func(self):

Belf.asaertTrua{my_func{]}

def test func(self):

self-asaertnaiBEE(my_funE(])

self.assertEqual(my func(),

‘{true})*)

def test func(self)

|def test func(self):

self.assertFalse(my func())

|
|
|
|

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 165
- (Exam Topic 1)
Which two types of NAT are used in a network? (Choose two.)

A. Static NAT

B. Normal NAT
C. Multicast NAT
D. Dynamic NAT
E. Router NAT

Answer: AD

Explanation:

Reference: https://www.dummies.com/programming/networking/cisco/types-of-network-address-translation/

NEW QUESTION 168
- (Exam Topic 1)

Which statement about authentication a RESTCONF API session with a router that runs Cisco I0S XE software is true?

A. OAuth must be used.

B. A token must be retrieved and the associated string must be embedded in the X-Auth-Token header.

C. Basic authentication must be used.
D. No authentication is required.

Answer: C

NEW QUESTION 169

- (Exam Topic 1)

What is the outcome of executing this command?

git clone ssh://john@exmaple.com/path/to/my-project_git

A. Creates a local copy of a repository called “my project”
B. Creates a copy of a branch called “my project”

C. Initiates a new Git repository called “my project”

D. Creates a new branch called “my project”

Answer: A
Explanation:

Reference: https://www.atlassian.com/git/tutorials/setting-up-a-repository/git-clone

NEW QUESTION 171
- (Exam Topic 1)

Which Cisco DevNet resource allows access to products in a development lab to explore, learn, and build application that use Cisco APLs?

A. DevNet communities

B. DevNet code Exchange

C. DevNet Automation Exchange
D. DevNet sandbox
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Answer: D

Explanation:
Reference: https://developer.cisco.com/site/sandbox/

NEW QUESTION 174
- (Exam Topic 1)
Which task is performed because the test-driven development approach is being used?

A. testing existing software before developing new code

B. refactoring code that is covered by existing tests

C. writing code without committing any coding violations

D. creating test scenarios based on continuous development

Answer: B

Explanation:

"The idea is that you build a test case first, before any software has been created or modified" but "testing existing software before developing new code" is the
idea or goal, not the task five steps of TDD:

-Write a test

-Test fails

-Write some code

-Test passes

-Refactor

NEW QUESTION 177
- (Exam Topic 1)
Refer to the exhibit.
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Drag and Drop the code from the bottom onto the box where the code is missing on the Meraki Python script to create a new network
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

T e e W R

base_url = "hctps://api i

2t : Pi.meraki.com/api/wvo"
org_id = "123456789%" MBS
api_key = 'lﬂﬁihldprailp:ﬂ:hthhp'
network name = "Mew Network"
regquests. post|

base_url + "/|organizations |/ = '— org_id = "/networks”®,
headers = |
HyeCisco-Meraki-ABPI-Hey": Pl _key ;
"conmens=Type™: "applicatien’json”
b e 1. N
daTas=son,aumEs | I"I name I' ! mecwWork name.
o . Peeepe ™ "gizeless IWIEIS

NEW QUESTION 182
- (Exam Topic 1)
What are the two purposes for using a VLAN in a network? (Choose two)

A. It is used to create the routing table.

B. It creates a collection of MAC addresses.
C. ltis used for VM network traffic.

D. It segments a network.

E. It creates a broadcast domain.

Answer: DE

NEW QUESTION 185
- (Exam Topic 1)
Drag and drop the network automation interfaces from the left onto the transport protocols that they support on the right.
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ot gRPC
HTTP
NETCONF
HTTP/2
HITPS
RESTCONF

A. Mastered
B. Not Mastered

Answer: A

Explanation:
gRPC = C, NETCONF = A, RESTCONF = B, D OR

NEW QUESTION 188
- (Exam Topic 1)
Which type of threat occur when an attacker can send hostile data to an interpreter within an application?

A. Cross-site scripting

B. Sensitive data exposure
C. Broken authentication
D. Injection

Answer: D
Explanation:

Reference: https://owasp.org/www-project-top-ten/OWASP_Top_Ten_2017/Top_10-2017_Al-Injection

NEW QUESTION 192
- (Exam Topic 1)
Refer to the exhibit.

#!/bin/bash
<item 1>=’'date +%b-%d-%y’

<item 2>=/home/usr/path/backup-$BACKUPTIME.tar.gz
<item 3>=/home/usr/path/data folder

tar —cpzf $DESTINATION $SOURCEFOLDER

Drag and drop the variables from the left onto the item numbers on the right that match the missing assignments in the exhibit.

BACKUPTIME <item 1>
SOURCEFOLDER <item 2>
DESTINATION <item 3>

A. Mastered
B. Not Mastered

Answer: A
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Explanation:
1-A,2-C,3-B

Reference: https://medium.com/@fotios.floros/linux-backup-script-1722cc9c2bf6 (use tar in order to create your backup file)

NEW QUESTION 196
- (Exam Topic 1)
Which product provides network controller-level management features?

A. Cisco DNA Center
B. Cisco NX-OS

C. Cisco UCS Manager
D. Cisco ISE

Answer: A

Explanation:

Reference: https://www.cisco.com/c/en/us/products/cloud-systems-management/index.html

NEW QUESTION 199
- (Exam Topic 1)
Fill in the blanks to complete the statement.

Cisco DNA provide the capability to send an HTTP request to the API endpoint https://DNA-c_API_ADDRESS/api/vi/network-device/ and receive the
network listin format.
A. Mastered

B. Not Mastered
Answer: A
Explanation:

Solution below as

Casco DNA Centes oo b= T i

) an HT T K0 T

151 J-r'u - e . =M

NEW QUESTION 201
- (Exam Topic 1)
On which network plane is routing protocol traffic handled?

A. data plane

B. management plane
C. authentication plane
D. control plane

Answer: D
Explanation:

Reference: https://tools.cisco.com/security/center/resources/understanding_cppr

NEW QUESTION 204
- (Exam Topic 1)
Refer to the exhibit.

<books>
<science>
<biology>10.00</bioclogy>
<geology>9.00</geclogy>
<chemistry>8.00</chemistry>
</science>
<math>
<calculus>20.00</calculus>
<algebra>12.00</algebra>
</math>
</books>

Which JSON is equivalent to the XML —encoded data?
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B L 4
“books?: {

“science”: |
“piology”: “10.007,
“geology”: “9.007,
“chemistry”: “8.007

},

“wmath* {

“calculus”: “20.007,
“algebra”: “12.00"

“books”: [

“Wscience”: {
“biology’”: M10.00%,
“geology™”: “9.007,
“chemistry”: “8.00"

},

'\.imathﬂ: {

“ealculus”: “20.007,
“algebrar:; V12, 00"

}
}
}
oF
“books”: [
“science”: {
"Biology®”: “10.007;
“geology”: “9.007,
“chemistry”: “8.00%
b
“math”: {
wgalculus”: “20.007,
“algebra”: ™12.007
}
]
}
D {
“books”: [
wscience”, {
“biclogy™: “10.007,
“geology”: “9.007,
“chemistry”: “8.00"
g,
“ma.th" ; {
“ealculus”: »20.007,
“algebra”: “12.00"
}
1
}
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 207
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- (Exam Topic 1)
Drag and Drop the Bash commands from the left onto the correct actions on the right.

cd™ list files in directory surlfed by edited
date descending
cd/ create directory
Is =l copy file
|s =t change directory to user SHOME
cp create environment variable
cp-r change directory to file system root
mv move file
touch create file
mkdir copy directory
export list files in directory with details

A. Mastered
B. Not Mastered

Answer: A
Explanation:

1-d,2-i,3-e¢,4-a,5-j,6-b,7-9,8-h,9-¢,10-f

NEW QUESTION 212
- (Exam Topic 1)
Drag and drop the Docker file instructions from the onto correct descriptions on the right. Not all options are used.

FROM ubuntu:12.04 ot tha Spbeiied Dataork oLt B e
VOLUME[" /var/www"," /varflog/apache2”,” fetc/apache2”] creates a mount point with the specified name
RUN apt-get update && apt-get install -y —force-yes apache? configures a container that runs as an executable
ENTRYPOINT[“/usr/sbinfapache2ctl”,”-D”,”FOREGROUND"] must be the first instruction in the Docker file
EXPOSE 1521
A. Mastered

B. Not Mastered
Answer: A

Explanation:
1-E,2-B,3-D,4-A

NEW QUESTION 215
- (Exam Topic 1)
Fill in the blanks to complete the cURL command that invokes a RESTful API to retrieve a resource in JSON format using OAuth.

curl —x | ) | w - ! i
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

carl 4 FQTT ] 1 H * !'q\l_{l‘iﬂ : applic
= : P&llﬂumhlhiﬂi 1 Bearer ALCAEFLIZI45%6™ httpa://laocalhost

Reference: https://webcache.googleusercontent.com/search?q=cache:Se6d2trvMsEJ:https://blogs.cisco.com/developer/secu

NEW QUESTION 217
- (Exam Topic 1)
Refer to the exhibit.

NarA-2n9H-tGgt-SxQ39iDejges” -i -d “{ \“roomId\”:
» \"text\”: \"test2\” }” _X POST https://api.ciscopark.com/vl/messages

D - [HEEB/IL120010K!

Via: 1.1 linkerd

Transfer-Encoding: chunked

TrackingID: ROUTER 5SEQFE283-63EB-01BB-00ED-806BF1BD00ED
E - Dpate: sat, 01 Jan 2020 00:55:31 GMT

Server: Redacted

Content-Type: application/json;charset=UTF-8

Vary: Accept-Encoding

{ 'I.'Lidﬂ': "
g9 “,“roomId”:"

T, " roomType":"”group”,"text”:”test2”, "personIld”:”

bash-3.28§

bash-3.25 curl -E “Content-Tvpe: application/dison” -H “Authorization: Bearer
A - Fj2zzykEa091ic9GR2)BLtE1EK1H6CREPQAWIPaAt601TndtEENWZL2Zb5PQMGE14Kk BIei5ISACLIYT-

\#¥2geK53siELknosrCTSwQ52GLIIpHgiuScBTDENVUS 8% 4WDKL PORCEKryANMIQNKILOZS POGA \
¢

Strict-Transport-Security: max-age=63072000; includedsSybDomains; preload

YCpJf3iaVovyBYcbn71l5desNkKegNStlExdeédenPt14Va0SNEChIMGL 7 0tWXQLOoIPuoJ73uu7JdoX
- Y2geK53s]ELknosrCTSwR5ZGLISpEgiuscBIDINVUs r8Xx4dwDFLi PORCELryANM3Q0mF 99L.0ZsP0G4

YeqYzL6Xgtyfwe L0wgfKE Twhij 2 3IKugWt4kLWkbb3IWEJBLVMZOK1vyDdFoppbleinNjl11FcMyy5
wD"” ,"personEmail”: "userfwebex.com” , "created”:”2020-01-01T00:55:32.4922"}

Drag and drop the descriptors from the left onto the correct parts of the API request and response on the right.

Response Headers B
HTTP Request B
HTTP Response C
Request Payload D
Request Headers E
Response Payload F

A. Mastered
B. Not Mastered

Answer: A
Explanation:

A-E,B-D,C-B,D-C E—AF-F

NEW QUESTION 220
- (Exam Topic 1)
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Which detalil is included in a routing table?

A. IP protocol

B. Broadcast address

C. TCP or UDP port number

D. Destination next hop or outgoing interface

Answer: D

Explanation:
Reference: https://geek-university.com/ccna/routing-table-explained/

NEW QUESTION 221

- (Exam Topic 1)

Fill in the blanks to complete the python script to request a service ticket using the APIC-EM rest API for the

user “devnetuser”.
Import requests
Import json

controlles = ‘devnetap
url =

Temeat g SEIVICE ioket using the APIC EM RES

. CISC0 comfs : i
TMips /I + trolle ~Fapvanticket -
~Unirolier + “/apuWvatticker

pavyload [ 'u=sername’ [ o
header = { '"Content type’
response —

| post{url, data json dumps sy oad)
headers= L verty=F alse)

- x Lpassword® ‘3712747 1)
apphc Ator/son' )

I_jS0Nn — rnesponse json()
pont(r_json)

icket r_son| “response”|["service Ticket"]
print{tcket)

A. Mastered
B. Not Mastered

Answer: A

Explanation:

mport requests

mport json

controller = "devnetapgs asco com/sandbox/apsc em'
url = “htps. /7~ + controller_ + “/api/va/icket”

- m—m——m e e

payiocad = [ 'usemame" "’ i{‘."v.f_nf‘nﬁe: o ] ‘password” '371387657)
header — [ "Content-type’ "apphcation/json’ } -
responsce = LE‘GUESE ll.t.‘rﬁ'llu;'l data—json dumps{payioad), \

headers— ‘1&;:}{_11?'1E ] vernfy=False)
r_json = redponse json()

pnnt{r_json)

ticket = r json[ response”|["service Ticket™)
pnTm‘[fT.rcl-;E‘-.'

Reference: https://developer.cisco.com/docs/apic-em/#!hello-world

NEW QUESTION 226
- (Exam Topic 1)

A 401 HTTP response code is returned when calling a REST API. What is the error state identified by this response code?

A. The server cannot process the request as it has detected an issue in the request syntax or body.
B. The server accepted the request but the client is not authorized for this content.

C. The request has not been accepted because it requires authentication.

D. The server cannot find the requested resource because the path specified is incorrect.

Answer: C

Explanation:
Reference:

https://blog.restcase.com/rest-api-error-codes-101/#:~:text=A%20401%20error%20response%?20indicates,crede

NEW QUESTION 229
- (Exam Topic 1)
Which mechanism is used to consume a RESTful API design when large amounts of data are returned?

A. Data sets
B. Scrolling
C. Blobs

D. Pagination

Answer: D
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Explanation:
Reference: https://nordicapis.com/everything-you-need-to-know-about-api-pagination/

NEW QUESTION 230
- (Exam Topic 1)
What is the benefit of edge computing?

A. It reduces network latency by moving processing closer to the data source.
B. It simplifies security as devices and processing are brought closer together
C. It removes the need for centralized data processing.

D. It reduces data velocity from devices or other data sources.

Answer: A

Explanation:
Reference: https://blogs.cisco.com/networking/time-to-get-serious-about-edge-computing

NEW QUESTION 231
- (Exam Topic 1)
Which two NETCONF operations cover the RESTCONF GET operation? (Choose two.)

. <get>

. <edit>

. <get-update>

. <modify-config>
. <get-config>

mooOw>»

Answer: AE

Explanation:
Reference:
https://www.cisco.com/c/en/us/support/docs/storage-networking/management/200933-YANG-NETCONF-Conf

NEW QUESTION 233
- (Exam Topic 1)
What is the purpose of the Cisco VIRL software tool?

A. To verify configurations against compliance standards
B. To simulate and model networks

C. To automate API workflows

D. To test performance of an application

Answer: B

Explanation:
Reference: https://www.speaknetworks.com/cisco-virl-better-gns3/

NEW QUESTION 236
- (Exam Topic 1)
Which is an advantage of using network programmability?

A. It removes CLI access for devices.

B. It provides for more scalable and replicable network provisioning.
C. Manual configuration is faster.

D. No cloud abstraction occurs.

Answer: B

NEW QUESTION 240
- (Exam Topic 1)
Which REST architectural constraint indicates that no client context should be stored on the server between requests?

A. stateless

B. uniform interface
C. cacheable

D. client-server

Answer: A
Explanation:

Reference: https://developer.cisco.com/docs/nx-os/#!representational-state-transfer-rest

NEW QUESTION 245
- (Exam Topic 1)
Drag and drop the network component names from the left onto the correct descriptions on the right. Not all options are used.
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contains a database of public IP addresses and their
DNS server associated hostnames and often resolves or translates
those names to IP addresses, as requested

firewall

enforces a set of rules about which data packets are
allowed to enter or leave a network

reverse proxy

distributes network and application traffic across
different servers

retrieves resources on behalf of a client from one or
load balancer more servers, then returns resources to the client, thus
appearing as if they originated from the service itself

NAT gateway

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1-A2-B,3-D,4-C

NEW QUESTION 249
- (Exam Topic 1)
What is the first development task in test-driven development?

A. Write code that implements a desired function.

B. Write a failing test case for a desired function.

C. Write a passing test case for existing code.

D. Reverse engineer the code for a desired function.

Answer: B

Explanation:
Reference:

https://technologyconversations.com/2013/12/20/test-driven-development-tdd-example-walkthrough/

NEW QUESTION 253
- (Exam Topic 1)
What are two roles of an artifact repository in a CI/CD pipeline? (Choose two.)

A. is required for CI/CD pipelines executed on a public cloud infrastructure
B. is required for managing open source software

C. stores files needed and generated during the build process

D. allows for comparing and merging changes in the source code

E. provides traceability, search, and management of binary files

Answer: CE

NEW QUESTION 257
- (Exam Topic 1)
Refer to the exhibit.

$ pyang -f tree Cisco-IO5-XE-native.yang
module: Cisco-IOS-XE-native
+--rw native
+=-rw logging
+--rw monitor|
+--rw severity? logging-level-type

$ curl --insecure -v -X PATCE \

-H ‘Content-Type: application/yang-data+json’ \
-d '{ "Cisco-IOS-XE-native:native” : { “logging” :
> ias
€ vss
< HTTP/1.1 204 No Content

“https://ios-xe-mgmt-latest.cisco.com:9443/restconf/data/Cisce-I05-XE-native:native” \
-H ‘Authorization: Basic ZGV2ZWxvcGVyOkMxc2NvMTIzNDU=' -H ‘Accept: application/yang-data+json’ \

{ ™monitor” : [ “severity” : “alerts” }) } }'

The definition of the YANG module and a RESTCONF query sent to a Cisco 10c XE device is shown. Which statement is correct if the RESTCONF interface
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responds with a 204 status code?

A. The query failed at retrieving the logging seventy level.

B. The query failed to set the logging seventy level due to an invalid path.

C. The query retrieved the logging seventy level.

D. The query updated the logging seventy level or created it if not present on the device.

Answer: D

Explanation:
Reference:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/1611/b_1611 programmability cg/restco

NEW QUESTION 261
- (Exam Topic 1)
Refer to the exhibit.

json _string = 777
{
“researcher”: {
“name”: “Ford Perfect”,
“species’: “Betelgeusian”,
“relatives”: [
{
“name’”: “Zaphod Beeblebrox”,
“species’’: “Betelgeusian”

}

Frrerer

my Jjson = json.loads (json string)
Which python data structure does my_json contain?

A. List

B. Json
C. Map
D. Dict

Answer: D

Explanation:
Reference:
https://stackoverflow.com/questions/34764979/loading-python-string-with-u-as-json?noredirect=1&Iq=1

NEW QUESTION 266
- (Exam Topic 1)
How is a branch called "my-bug-fix" started to develop a fix needed in a product?

A. git branch -b my-bug-fix
B. git checkout -b my-bug-fix
C. git checkout my-bug-fix
D. git branch my-bug-fix

Answer: B

NEW QUESTION 267
- (Exam Topic 1)
Which line is an example of the start of a chunk from a unified diff?

A. @@ -90,88 +20191008T1349@ @

B. @@ -20191007T1200 +88,90 @@

C. @@ -20191007T1200 +20191008T1349@@
D. @@ -88,10 +88,6 @@

Answer: D

Explanation:

Reference:
https://unix.stackexchange.com/questions/252927/what-do-the-numbers-in-the-line-mean-in-output-of-diff

NEW QUESTION 272
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- (Exam Topic 1)
Refer to the exhibit.

= hoats: c:am_nmm 01
gather facts: true
connection: network cli

tasks:
~ name: show conf
108 command:
Commands
- show conf

register: config

" name: save output to /etc/ansible/configs
opy:
content: *(( config.stdout[0] }}°

dest: "/etc/ansible/configa/show conf (| inventory hostname }).tat®

What is the result of executing this Ansible playbook?

A. The playbook copies a new start-up configuration to CISCO_ROUTER_01.
B. The playbook backs up the running configuration of CISCO_ROUTER_O01.

C. The playbook backs up the start-up configuration of CLSCO_ROUTER_01.
D. The playbook copies a new running configuration to CISCO_ROUTER_01.

Answer: C

NEW QUESTION 274
- (Exam Topic 3)

Drag and drop the code from the bottom onto the box where the code is missing to authenticate with the Cisco DNA Center REST API by using basic

authentication. Then generate a token for later use. Not all options are used.

import requests
from requests.auth impert HTTPBasichuth

(BASE_URL + AUTH_URL,

BASE_URL = 'https://sandboxdnacld.cisco.com'
AUTE URL = '/dna/system/api/vl/
USERNAME = ‘'admin’
PASSWORD = 'qwerl2i4'®
response = reguests.
auth=HTTPBasicAuth ( .

) )

token = response.json() ('Token"']
print (tcken)

auth/basic fauth/roken post. Jer.
OSERNAME Token FROESWORD
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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import requests

L[]

BASE _URL

from requests.auth impert HTTPBasichuth

'https://sandboxdnacd.cisco.com’

AUTE URL = '/dna/system/api/vl/!
- |

USERNAME = ‘'admin’
PASSWORD = 'qwerl2i4'®

response = reguests, post (BASE URL + AUTH URL,
auth=HTTFBasicAuth ( DSERNAME . FRASAWORD ) )
token = response.jscn() ('Token']
print (tcken)
auth/basic Ilfﬁ:ﬁhfﬂmk;ﬂ | post !! jar
e e e R e e e e ] i|_ _
OSERNAME || Toker 1l PrssworD

NEW QUESTION 276
- (Exam Topic 3)

When a Cisco |IOS XE networking device is configured by using RESTCONF, what is the default data encoding method?

A. application/yaml-data+json
B. application/yang-data+json
C. application/xml-data+json
D. application/json-data+xml

Answer: D

NEW QUESTION 280
- (Exam Topic 3)

Which HTTP method is used by webhooks and notifies a listener about an event change?

A. PUT

B. POST
C. PATCH
D. GET

Answer: B

NEW QUESTION 281
- (Exam Topic 3)

A developer must test the performance and reliability of an application. After functional and load tests are run, the application crashes due to traffic spikes from
users. Which type of API constraint must be implemented to maintain reliability?

A. rate limiting
B. pagination

C. payload limits
D. filtering

Answer: A

NEW QUESTION 282
- (Exam Topic 3)
What is a capability of Ansible playbooks?

A. They execute scheduled tasks regularly.

B. They define the state for a device configuration.
C. They collect SNMP logs from networking devices.
D. They utilize the target device agent to execute.

Answer: A

NEW QUESTION 287
- (Exam Topic 3)
What is a characteristic of RPC APIs compared to REST APIs?
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A. Authentication is done over provisions for the service caller and vice versa for RPC API, and REST API uses HTTP headers for authentication.
B. All communications between the client and server must be stateless for RPC API, and REST API is stateful.

C. The architecture model for RPC APl is resource-focused, and REST API is procedure-focused.

D. The data payload must be in JSON format for RPC API, and REST API allows JSON and XML formats.

Answer: A

NEW QUESTION 291
- (Exam Topic 3)

user@hostl:~/tmp$ cat Dockerfile

# Dockerfile to install traceroute

FROM ubuntu

MAINTAINER User One (useronef@cisco.com)

RUN apt-get update && apt-get install traceroute

Refer to the exhibit. Drag and drop the Dockerfile contents from the left onto the functions on the right that create a container image to run traceroute to track
network path to specific targets. Not all options are used.

document author FROM ubuntu
command to execute MAINTAINER User One (useronedicisco.com)
Inmializes a new bulld stage RUN apt-get update && apt-get Install raceroute
coples new flies or directories
sets the usend
A. Mastered
B. Not Mastered
Answer: A
Explanation:
o e e e e,
document author 'r 1 Intiaizes & new bulld stage
I mm B BB BE BB B BaE a2 i . . e - - “I
| command to execyute document author |
I |
- |
| In‘tiakizes a new bulld stage command to execute |
k - J
E
{ coples new files or directories !
! sets, the usend

NEW QUESTION 296
- (Exam Topic 3)
What is a capability of the AXL API?

A. It signs a user in to a phone that is configured for extension mobility.

B. It pulls logs for the Cisco Tomcat service.
C. It authenticates users who exist in Cisco Unified Communications Manager.
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D. It provides support for HTTP and HTTPS communications.
Answer: C
NEW QUESTION 297

- (Exam Topic 3)
Refer to the exhibit.

Server 1:
IP Address:
10.10.20.10
Netmask:
255.255.255.0

Server 2:

IP Address:
10.10.30.10
Netmask:
255.255.255.0

While developing a Cisco Webex bot, an application reaches the public IP address of the firewall, but traffic is forwarded to the IP address of server 1 instead of

the IP address of server 2. What causes this issue?

A. The proxy server that rewrites traffic is misconfigured.

B. The router is sending the traffic to server 1 instead of server 2.
C. The switch is forwarding IP traffic to the wrong VLAN.

D. NAT is misconfigured on the firewall.

Answer: D

NEW QUESTION 300
- (Exam Topic 3)
Which technology is responsible for resolving a host name to an IP address?

A. DNS
B. SNMP
C. DHCP
D. NTP

Answer: A

NEW QUESTION 302
- (Exam Topic 3)

Drag and drop the capabilities from the left onto the Cisco Network Management Platforms that support the capabilities on the right.

receives AL/ML network performance insights, ard uses quided

issue remediation Merakd
achleves automation through common policy for data center
operatiors Csco DNA Center
establishes an overlay fabric to connect data centers, branches, ACl
and campuses through vManage
provisions and manages networks, networking devices, and ;
dients through a fully managed doud service Csco SD-WAN
supparts multivendor networks through |
Network Element Drivers NSO
A. Mastered
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B. Not Mastered
Answer: A

Explanation:

receives Al/ML network performance Insights, and uses guided
issue remediation

provisions and manages networks, netviorking devices, and
dients through a fully managed doud service

—————

achieves automation through common policy for data center
operztiors

receives AL/ML network performance Insights, and uses guided
issue remediation

iatabﬁduanwlwhhtmmdmmm.
I and campuses through vManage

{ ahieves automation through common policy for data center |
| operatiors J

| provisions and manages networks, networking devices, and
| dients through a fully managed doud service

| Supparts multivendor networks through
| Network Element Drivers

establishes an overlay fabric to connect data centers, branches,
and campuses through vManage

NEW QUESTION 304

- (Exam Topic 3)
Drag and drop characteristics from the left onto the infrastructure management methodologies on the right.
[Device Leve
exposes RESTCONF as Northbound APl
uses REST as Northbourd API

supportad by standards such as YANG models Controlier Leve |

Integrates to [TSM tools using Westhound AP(s
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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exposes RESTCONF as Northbound AP

Device Level

e e e e R S RS S Ee e S B e B B B B e e e e e

exposes RESTCONF as Northbound AP

uses REST as Northbourd AP]

supported by standards such as YANG models
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NEW QUESTION 309

- (Exam Topic 3)

A team of developers is responsible for a network orchestration application in the company. The responsibilities also include:

developing and improving the application in a continuous manner deployment of the application and management of CI/CD frameworks
monitoring the usage and problems and managing the performance improvements Which principle best describes this DevOps practice?

A. responsible for IT operations
B. automation of processes
C. end-to-end responsibility
D. quality assurance checks

Answer: C

NEW QUESTION 313
- (Exam Topic 3)

$ find /home/user/backup -mtime +30 —-type f -print
$ find /home/user/backup -mtime +30 -type f —-delete

Refer to the exhibit. An engineer is managing the network of an enterprise. The network is using a distributed deployment model. The enterprise uses database to
store logs. The current policy requires logs to be stored if changes are made to the infrastructure in any of the devices on the data centers. Which workflow is
being automated by the Bash script?

A. returning backup files that are older than 30 days

B. deleting backup files that are older than 30 days

C. configuring the directory to delete files automatically
D. automating deletion of all backup files every 30 days

Answer: B

NEW QUESTION 315
- (Exam Topic 3)
During which step of the CI/CD pipeline for infrastructure automation is code from multiple developers combined to compile and test different components?

A. integration
B. deployment
C. development
D. testing

Answer: A

NEW QUESTION 318
- (Exam Topic 3)
What is the function of an Ethernet switch in a networking environment?

A. to switch a frame from one port to another port based on IP address

B. to switch a frame from one port to another port based on MAC address
C. to provide IP addressing to connected hosts

D. to block unwanted traffic

Answer: B

NEW QUESTION 323
- (Exam Topic 3)
Drag and drop the functions from the left onto the networking devices on the right.
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forwards by default load balancer
distributes unil_:ast switch
traffic over devices
uses traffic inspection to make
) . firewall
forwarding decisions
distributes multicast traffic ut
over devices router
A. Mastered
B. Not Mastered
Answer: A
Explanation:
forwards by default forwards by default
distributes unicast distributes unicast
traffic over devices traffic over devices

uses ftraffic inspection to make| | uses traffic inspection to make

forwarding decisions forwarding decisions
distributes multicast traffic distributes multicast traffic
over devices over devices

NEW QUESTION 325
- (Exam Topic 3)
Which command reverses the last commit without changing the index file or the working tree position?

A. git revert HEAD

B. git reset --hard HEAD~3
C. qgit reset --soft HEAD”
D. git revert

Answer: C

NEW QUESTION 329
- (Exam Topic 3)
What is a procedural component of CI/CD pipelines?

A. Bundled artifacts must be generated.

B. Every test must pass for the pipeline to continue its execution.
C. Some tests fall without stopping the pipeline execution.

D. The release label that identifies the build is optional.

Answer: B

Explanation:

In a CI/CD (Continuous Integration/Continuous Deployment) pipeline, a procedural component is a specific step or action that is carried out in a specific order as
part of the pipeline process. One of the procedural components of a CI/CD pipeline is that every test must pass in order for the pipeline to continue its execution. If
any test fails, the pipeline will stop and the issue must be addressed before the pipeline can continue. This is an important procedural component of a CI/CD
pipeline because it ensures that the code being deployed is of high quality and meets the necessary standards before it is released.

NEW QUESTION 331

- (Exam Topic 3)

Users cannot access a webserver and after the traffic is captured, the capture tool snows an ICMP packet that reports "time exceeded in-transit". What is the
cause of this webserver access issue?

A. The large distance between the server and the users means that the packets require too much time to reach the destination.
B. A router along the path is misrouting the packets in a wrong direction.

C. A router along the path has the wrong time.

D. The server is overloaded and the connection was not able to be processed in time.

Answer: B
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NEW QUESTION 333
- (Exam Topic 3)

HTTPS/1.1 201 Created

Date: Tue, 08 Nov 2020 09:37:27 GMT

Jerver: ex mpla-sc:ve:

Location: https://example.com/restconf/data)
example-jukebox/library/dogbreed=Australian

Last Modified: Tue 08 Nov 2020 09:37:27 GMT

e
ETag: "slB/8ll4t4c”™

N i

-0Cactle®

Refer to the exhibit. Which RESTCONF request results in this response?

A. : . ; ; ; . g T
GET /restconf/data/example-jukebox:jukebox/_iprary HTTP/ /1.1
Host: examp_=.20m
Content-Type: app__caton/yvang-data-json
"Examp_e-Jjukepoxiaogoresd”
"name" “"Bustral-—an Cati_e Dog
B. T : . s TR e = o
COKFIG /restconf/data/examp_e-jukepox:jukepox/__brary HTTP/1.1
Host: example.com
Content-Type: aprlication/vang-data—-json
“"Exampr_.e-jukebox:dogbreea”
"nams" : "Australian Cattle Dog
C. : A , : : ; T T
PUT /restconf/data/example-jukebox:jukebox/library HTTPR/1.1
Host: examo_e.oom
Content-Tyoe: app_ication/yvang-aata—Json
“Examp_e-Jjukepox:dogbresa”
"name"” “"Australian Catt_e [Dog
D. ; c : ; : = o
POST /restconf/data/example-jukebox:jukebox/library HTTPE/1.1
Host: example.com
Content-Type: application/vang-data-+json
"Example:dogbhresa”™
"name” “"Australian Cattle Dog
T
4
J'.
Answer: D

NEW QUESTION 337
- (Exam Topic 3)
A developer creates a program in which an object maintains a list of classes based on the observer pattern. The classes are dependent on the object. Whenever
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the state of the object changes, it notifies the dependent classes directly through callbacks. Which advantage of the observer pattern offers minimum
dependencies and maximum flexibility between dependent objects or classes?

A. tight coupling
B. cohesion

C. mediation

D. loose coupling

Answer: D

NEW QUESTION 342
- (Exam Topic 3)

/apifaccess/global/rules

Implementation Notes
Add a new global access rule.
Parameters

Parameter Required
body true
Response

APl operations on global access rules.

Description

Definition of the global access rule to be added.

Response Content Type |appl

icationfjson |

ExtendedACE Model
Field

sourcefddress®
destinationAddress®
kind*

dstSecurity
dstSecurity. Value
active®
destinationService®

permit®

Response Object ExtendedACE

Value Description

object source address in the ace

object destination address in the ace
string The kind of this resource object.
object destination security group in the ace

string

Type
body

boolean shows if the rule is active or inactive, default is active

object destination service in the ace
boolean shows if the action is permit or deny

—

GET PUT PATCH [85) DELETE

Data Type
ExtendedACE

Constraints

MNone
MNone
None
None
Mone
Mone
None
MNone

Refer to the exhibit. Drag and drop the code from the bottom onto the box where the code is missing to complete the function that adds a new global access rule
that denies traffic using the Cisco ASA REST API. Not all options are used.

data = |

b

"walus":
Yo

import requests as req
def add rule{tocken, asa IP, dest viaddress):

"destinationAddress": |
"kind": "IPvdaddress™,
"value": dest vdAddress

"destinationService™: {
"kind": "NetworkProtocol"™,

[ : (1]

1P

"valuea";
!

}
objectRequestUrl=

res = redq.request

*active™: True,
"sourceAddress": |

"kind": "AnyIPAddress",
"any4"”

'https://" |

(|

json=data, verify=False)

]

print ("Success.")
else:
print ("Failed")

[if res.status code == 201:

[if res.status code == 203:

|+ asa IP + "/fapi/access/global/rules™

I'POST',

objectRequestirl,

['permit”: False,

|+ asa_IP = "/access/global/rules”

A. Mastered
B. Not Mastered

Answer: A
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Explanation:

Graphical user interface, text, application, email Description automatically generated

NEW QUESTION 347
- (Exam Topic 3)
Refer to the exhibit.

e Internet

Device B

Device A, Layer 2

Device C

Device E, Layer 2

=

—
e—

Server 1
IP Address:
10.10.10.11
Subnet mask:
255.255.255.0

A
Server 2
IP Address:
10.10.20.21
Subnet mask:
255255 255.0

Up to which device does the communication server 1 and server 2 go?

A. device B
B. device C
C. device D
D. device E

Answer: C

NEW QUESTION 351
- (Exam Topic 3)

Drag and drop the code snippets from the bottom onto the blanks in the code to complete the happy path scenario. Not all options are used.

ampoL T memnDel a3 r

AMBSItT PYRenT

£l init self A
wa]l?d mame = & s
E +TEEFOeT N
def add member alf martber
" prape
tf mambe = LN e & oz 3
raturn True

| return True |

| team.add_member{memberjl

|self Jmmembers.appand (membar !I|

| yield member |

| return False |

| member .add_member () |

A. Mastered
B. Not Mastered

Answer: A
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Explanation:

nAMmS
self . membeacs = []

Zef adZ member(sels, mambe:
1 f memrber:

if mepber not LN seLi.TmamDeIrs:

| membar . add member () P

feTuIn TIue

| raturn Falsa |

team-add_mamber{memherll

("ceam", "mamber”

chhiddMemberToTea
def testf add member to teamiaelf, Team, member):
PR g i - . -
: EL 1 i Tru
=38 ield member » -

| return True [
T

‘self‘memhers.appandtmemherﬂ

T Ee o e W et W e e Y S

taam.add_mﬂmber{ﬁéﬁhé}}

|  vield member |

I return False 1

F membear.add membear () h

NEW QUESTION 353
- (Exam Topic 3)
Refer to the exhibit.

Hypervisor

App_l_ication Server

CPU

L L 1L

Elatébase

mrrremn
LA L L

An application must be deployed on a server that has other applications installed. The server resources are to be allocated based on the deployment requirements.
The OS for each application must be independent. Which type of deployment is used?

A. hybrid
B. virtual machines

C. containers
D. bare metal

Answer: B

NEW QUESTION 358
- (Exam Topic 3)
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Mathod: POST

* application/vang-data.errors+jison’ )

Body:

URL: https://example.com/restconf/data/Cisco-I0S-XE-native:native/logging/monitor

Headars: { ‘Contant-type’: ‘tapplication/yvang-data+json’; ‘Accept’: lapplication/vang-data+json;

Refer to the exhibit. Which HTTP code is returned after the RESTCONF query is executed?

A. 201
B. 204
C. 302
D. 304

Answer: A

NEW QUESTION 360
- (Exam Topic 3)

A developer attempts to refactor and improve the application code. It is noticed that the code contains several pieces of key information that could be a security
threat if this code is accessible by those who are not authorized to this data. Which approach addresses the security concerns noticed by the developer?

A. Host the application code on a machine located in a secure data center.

B. Utilize environment variables for username and password details.

C. Rely on the security teams’ goodwill to not give access to those who do not need it.
D. Move the hardware that the application is deployed on to a secure location.

Answer: B
NEW QUESTION 363

- (Exam Topic 3)
Refer to the exhibit.

HTTP Request
curl http://hello-api.info -v
HTTP Response

Trying hello-app.info...
TCP_NODELAY set
Connected to hello-app.info (hello-app.info) port 80
GET / BTTP/1.1
Host:hello-app.info
User-Agent: curl/7.64.1
Accept: */*%*

WVouw W oW Y % % o

f‘\

HTTP/1.1 502 Bad Gateway

Server: nginx/1.14.0 (Ubuntu)

Date: Sat, 21 Nov 2020 11:09:54 GMT
Content-Type: text/html
Content-Length: 182

< Connection: keep-alive

L]

M

[

AT L W

(#0)

A developer cannot reach the web application behind an NGINX load balancer. The developer sends a request to an application FQDN with cURL but gets an

HTTP 502 response. Which action solves the problem?

A. Fix errors in the server configuration, which is behind the load balancer.
B. Bring up the load balancer to the active state.

C. Fix errors in the cURL request sent by the client.

D. Change the default gateway on the load balancer to an active one.

Answer: A

Explanation:

The HyperText Transfer Protocol (HTTP) 502 Bad Gateway server error response code indicates that the server, while acting as a gateway or proxy, received an

invalid response from the upstream server.

https://developer.mozilla.org/en-US/docs/Web/HTTP/Status/502#:~:text=The%20HyperText%20Transfer%20P

NEW QUESTION 366
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- (Exam Topic 3)

A development team is creating an application used for contactless payments. The application must: Be web-based Capture and process the credit card

information for a purchase.

Which security action must the web application use to gather and process the private customer data?

A. Enable RATSs to monitor the web application remotely.
B. Disable botnets to eliminate risks.

C. Disable TLS to increase the connection speed.

D. Enable the encryption of network traffic.

Answer: D

NEW QUESTION 370
- (Exam Topic 3)
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Refer to the exhibit. Which action does the script perform?

A. It queries user credentials from Cisco IOS XE devices.
B. It retrieves device identification from Cisco DNA Center.
C. It exports SSID information from Meraki dashboard.

D. It collects group information from ACI.

Answer: D

NEW QUESTION 371
- (Exam Topic 3)
Which port does HTTPS use by default?

Answer: B

NEW QUESTION 376
- (Exam Topic 3)
Refer to the exhibit.
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module ietf-interface |
namespace "urn:ietf:params:xml:ns:yang:ietf-interfaces";
prefix if:;
import ietf-yang-types {
prefix yang:
}
container interfaces-state |
list interface {
key "name";
leaf name |
type string:;
}
leaf admin-status {
type enumeration |
enum up {
value 1;
J
enum down |
value 2;
}
enum testing ({
value 3;
}
}
}

leaf if-index |
type int32 {
range "1..21474836e47"
}
}
container statistics |
leaf in-octets |
type yvang:counteréd;
}
leaf in-unicast-pkts |
type vang:counterod:;
}
}

}

Which XML snippet has interface information that conforms to the YANG model?

A. Text Description automatically generatedB.| =i nterfares-state
xmlns="urn:ietf:iparams:xml:ns:yang:ietf-interfaces”
xmlns:if="urn:ietf:params:xml:ns:yang:ietf-interfaces">
<interface name="GigabitEthernetl">
<admin-status>l</admin-status>
<if-index>1</if-index>
<statistics>
<in-octets>4081€4820</in-octets>
<in-unicast-pkts>72806€l</in-unicast-pkts>
</statistics>
</interface>
</interfaces-state>

Text

Description automatically generated| « i nterfaces—-state
xmlns="urn:letf:params:xml:ns:yang:letf-interfaces”
¥xmlns:1f="urn:letf:params:xml:ns:yang:1letf-interfaces">
<interface>
<name>GligabitEthernetl</name>
<admin-status>up</admin-status>
<if-index>1</if-index>
<in-octets>408164820</1in-octets>
<in-unicast-pkts>728061l</in-unicast-pkts>
</interface>
</interfaces-state>

B. Text Description automatically generated
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<interfaces-state
xmlns="urn:ietf:params:xml:ns:yang:ietf-interfaces”
xmlns:if="urn:ietf:params:xml:ns:yang:ietf-interfaces">
<interface>
<name>GigabitEthernetl</name>
<admin-status>up</admin-status>
<if-index>l</if-index>
<statistics>
<in-octets>408164820</in-octets>
<in-unicast-pkts>72806€l</in-unicast-pkts>
</statistics>
</interface>
</interfaces-state>
C. Text Description automatically generated| «{ nterfaces-state

xmlns="urn:ietf:iparams:xml:ns:yang:ietf-interfaces”
xmlns:if="urn:ietf:params:xml:ns:yang:ietf-interfaces">
<interface>
<name>GigabitEthernetl</name>
<admin-status>l</admin-status>>
<if-index>1</if-index>
<statistics>
<in-octets>408164820</in-octets>
<in-unicast-pkts>72806€l</in-unicast-pkts>
</statistics>
</interface>
</interfaces-state>

Answer: C

Explanation:
https://datatracker.ietf.org/doc/id/draft-ietf-netmod-interfaces-cfg-01.txt <admin-status>up</admin-status>

NEW QUESTION 379
- (Exam Topic 3)
What are two benefits of using classes over functions when writing applications? (Choose two.)

. improved readability

. increased compatibility
. variable reusability

. increased performance
. code organization

moQoOw>»

Answer: AC

NEW QUESTION 384
- (Exam Topic 3)

lmpoOrt I&EQUESTS
from requests.auth impert HTIPBasichuth

user= "yser®
pasawocrd= "PASSWORD"

tokenSregquests.post('httpa://<DNAC ADRESS>/dna/system/api/v1/auth/tcken’,

Refer to the exhibit. A developer must use a token to collect data from Cisco DNA Center API and prepares a Python script to send requests. Which line of code
needs to be placed on the snippet where the code is missing to obtain a token from the Cisco DNA Center API?

A. token=BasicAuth(‘user’,'‘password’))

B. auth=BasicAuth(‘user’,'password’))

C. auth=HTTPBasicAuth(user,password))
D. token=HTTPBasicAuth(user,password))

Answer: C

NEW QUESTION 387
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- (Exam Topic 3)

Object Lookup

Use the MoDirectory.lookupByDn to look up an object within the MIT object tree by its
distinguished name (DN). This example looks for an object called "uni':

uniMo = moDir. lookupByDn( ‘uni')

A successful lookup operation returns a reference to the object that has the specified DN.

You can also look up an object by class. This example returns a list of all objects of the class "polUni’.

uniMo = moDir.lookupByClass({ poluni')

You can add a filter to a lookup to find specific objects. This example returns an object of class
‘fWTenant’ whose name is Tenant1’:

tenantlMo = moDir. lookupByClass("fvTenant”, propFilter='andleq(fvTenant.name, “Tenantl™))")

Refer to the exhibit. Drag and drop the code from the bottom onto the box where the code is missing to add a subnet to each bridge domain in the Tenl tenant.

Not all options are used.

from cocbra.medel import fv

from cobra.mit.request import ClasaCuery, DnQuery
import cobra.mit.access

import cobra.mit.session

tenname = "Tenl®™
la = cobra.mit.session.LoginSession(
'heeps://10.100.1.200", "admin®™, "Labl23!3")

aci = cobra.mit.access.MoDirectory(ls)
aci.legin()
¢ = cobra.mit.request.ConfigRequest()

gqryl = (f'uni/tn-{tenname]’)

fvTenant = aci.queryl(gzyl)[0]

gry2 = {=£vBD"™)

qryZ.propFilter = f'and{wcard(fvBD.dn, " (fvTenant.dn}™) )"
fvBDs = acli.gquery(gryl)

i=0
for £¥BD in £vBDa:

fvaubnet = gcobra.model.fv.Subnet( I I y Ap=£'10.114.{1}.1/24")

€.addMo | £vBD)

aci. | ] (e}

iv+s=

i — S - — 3 _— —

[ £vBD | fvTenant ] I ClassQuery l bdname | | Drgucry 1 | ClassName | [ commLit

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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from cobra.model import fv

from cobra.mit.requeat import ClasaCuery, DnaQuery
import cobra.mit.access

import cocbra.mit.sessign

tenname = "Tenl™
ls = cobra.mit.sessicn.LoginSeasion|
*heeps://10,100.1.200", “admin®™, “"Labl23!3")

aci = cobra.mit.access.MoDirectory(ls)
aci.login()
¢ = gcocbra.mit.request.ConfigRequest ()

gryl = | [Crguory {(£'uni/tn-{tenname}"')

fvTenant = aci.queryigryl) [0]

gry2 = “lassCuery | (*£+BD"™)

gry2.propFilter = f'and(wcard (EvBD.dn, " (fvTenant.dnl™))"’
fvBDas = aci.query(gryl)

i=0
for £vBD in fvBDa:

(e)

fvsubnet = cobra.model.fv.Subnet| | IvED sy Ap=£"10.114.{1).1/24")

IvaD IvTenant classQuery bdname |l Dnguery

NEW QUESTION 392
- (Exam Topic 3)

' /bin/bash

apt-get update

apt-get -y install git
cd Code/Network Confi
mkdir PRODUCTION

cd PRCDUCTION

touch state.yml

v1i state.yml

Commlit

Refer to the exhibit. A network engineer executes the bash script shown. Which two things are achieved by running the script? (Choose two.)

A. A directory called PRODUCTION is created.
B. The engineer changes to the parent directory.
C. A YAML file is created.

D. A YAML file is removed.

E. A directory called state.yml is created.

Answer: AC

NEW QUESTION 393
- (Exam Topic 2)
Which Cisco product provides malware and content filtering through DNS?

A. Cisco ASA Firepower module
B. Cisco AMP

C. Cisco ISE

D. Cisco Umbrella

Answer: D

NEW QUESTION 395

- (Exam Topic 2)

What is a benefit of using functions in the code for the development process?
A. better user experience in the end product

B. improves code performance

C. easier to compile the code

D. fester code development

Answer: D

Explanation:

https://www.techwalla.com/articles/the-advantages-disadvantages-of-using-functions-procedures-in-computer-p

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



\l/ Exam Recommend!! Get the Full 200-901 dumps in VCE and PDF From SurePassExam
L' Sure PHSS https://www.surepassexam.com/200-901-exam-dumps.html (406 New Questions)

NEW QUESTION 397
- (Exam Topic 2)
Which configuration management tool has an agentless capability?

A. Chef

B. Puppet
C. Ansible
D. CFEnNgine

Answer: C

NEW QUESTION 399
- (Exam Topic 3)
Which TCP port is used to connect to a network device by using Telnet?

Answer: A

NEW QUESTION 400

- (Exam Topic 3)

Developer is working on a new feature and made changes on a branch named ‘branch-413667549a-new’. When merging the branch to production, conflicts
occurred. Which Git command must the developer use to recreate the pre-merge state?

A. git merge -no-edit
B. git merge -commit
C. git merge -revert
D. git merge -abort

Answer: D
Explanation:

https://www.git-tower.com/learn/git/ebook/en/command-line/advanced-topics/merge-conflicts

NEW QUESTION 402
- (Exam Topic 3)

m fnectwark-device/count

m /network-=device

m /network-device/

Refer to the exhibit. Drag and drop the code from the bottom onto the box where the code is missing to construct a request that generates a security token and
gets a list of network devices. Not all options are used.
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import jseon, requests, urllip3
from requests.auth impert HTTPBasichuth
from config import host, username, password
headers = { 'content-type': "application/jyson", 'x-auth-token': "" }
def dna_api_authl{host, username, password):
url = "https://{)/api/system/vl/auth/token”.format (host)
response = .poat(url, auth=HTTFBasicAuth (username, password),
headers=headers, verify=False)
return response.jscn() [*"Tocken"]
def list_dna_devices(taken):
url = "hetps://{}/api/vil/network-device”. . format (hoat)
headers["x—-auth-token™] = token
response = requests.get (url, headers~headers, verify=False)
data = «json{)
for item in data[’response’]:
praint(item|[“hostname®])
token = (host, username, password)
(token)
response Teply dna_api_auth requests
json list _dna devices lislt devices
A. Mastered
B. Not Mastered
Answer: A
Explanation:
import json, requests, urllib3
froem requests.auth impert HTTPBasiclhuth
from config import hcost, username, password
headers = { 'content-type': "application/jyson", 'x-auth-token': "" }
def dna_api_auth(host, username, password):
url = "hetps://{)/api/system/vl/auth/token”.format (host)
responae = requests .poatiurl, auth=HTTFBasicAuth (username, pasaword),
headers=headers, verify=False)
return response.json() ["Token"]
def liat dna_devicesa{token):
url = "hetps://{}/api/v]l/network-device”.format (hoat)
headers|["x—auth-token"™] = token
response = requests.get(url, headers=headers, verify=False)
data = Iegponss | .json()
for item in data[‘'response’]:
prant (item|“hostname®])
token = dna_api_auth (host, username, password)
[ilut_dnu_ic?i;u: (token)
ISSponse - "._1-__; o dna_apl_auth [ requests !
e -]—L‘-.’.—.‘ll_ i _I list _dna devices [ list devices

NEW QUESTION 405
- (Exam Topic 3)
Which IP service is used to monitor the performance of network devices?

A. SNMP

B. DHCP
C.DNS
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D. NTP

Answer: A

NEW QUESTION 407
- (Exam Topic 3)
What is a comparison of YAML and JSON?

A. YAML has a more consistent approach to representing data compared to JSON.

B. JSON does not support comments and YAML does.

C. YAML is a more verbose data structure compared to JSON.

D. JSON has more common usage in configuration management tools compared to YAML.

Answer: B
Explanation:
Reference: https://stackoverflow.com/questions/244777/can-comments-be-used-in-json

Can | use comments in JSON? No, JSON is a data-only format. Comments in the form //, #, or /* */, which are used in popular programming languages, are not
allowed in JSON. You can add comments to JSON as custom JSON elements that will hold your comments, but these elements will still be data.

NEW QUESTION 411
- (Exam Topic 3)

[
La]]
¥
w

|.-|

_EI a8
L 5 |

[}

M

[

reguests
§ username and password

AP

I USER NAME = “devnetuser”
API_PA :

SSNORD = os.environ( ‘APl PASSWORD’ ]

'
{ =
2

raquests.get('htep

1]
e

//apl.cisco.com/end-service’, auth=(API USER NAME, API PASSWORD))

Refer to the exhibit. An engineer must authorize a REST API call. The API password is "Cisco123!". Which Bash command must be placed in the code to authorize
the call?

A. mkdir API_PASSWORD=Cisco123!
B. set API_PASSWORD=Cisc0123!

C. cp API_PASSWORD=Cisc0123!

D. export API_PASSWORD=Cisco123!

Answer: D

NEW QUESTION 413
- (Exam Topic 3)
Which Cisco platform is used to manage data center infrastructure through third-party tools and system integrations?

A. Cisco DNA Center
B. Cisco UCS Manager
C. Cisco Intersight

D. Cisco UCS Director

Answer: D

NEW QUESTION 417

- (Exam Topic 3)

A developer has addressed a bug that was found in the production code of an application. A separate file named ‘bug427896191v_fix" has been created with the
changes to the code. Which Git command must be used to incorporate the bug fix into the production code?

A. git rebase

B. git cat-file

C. git merge-file
D. git bisert

Answer: C

NEW QUESTION 420

- (Exam Topic 3)

A developer completed the creation of a script using Git. Before delivering it to the customer, the developer wants to be sure about all untracked files, without
losing any information. Which command gathers this information?

A. git clean —n
B. git rm —f

C. gitclean —r
D. gitrm*
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Answer: A

NEW QUESTION 422

- (Exam Topic 3)

A customer's cloud services must:

Migrate services to another data center on demand. Save the operational state of the machine on demand. Support Windows and Linux GUIs.
Maximize hardware utilization.

Which type of deployment meets these requirements?

A. bare metal

B. container

C. virtual machine
D. Kubernetes

Answer: C

NEW QUESTION 427

- (Exam Topic 3)

A developer is working on a new feature in a branch named 'newfeat123456789' and the current working primary branch is named 'prim987654321'. The developer
requires a merge commit during a fast forward

merge for record-keeping purposes. Which Git command must be used?

A. git merge --no-ff newfeat123456789

B. git commit --no-ff newfeat123456789
C. git add --commit-ff newfeat123456789
D. git reset --commit-ff newfeat123456789

Answer: A

NEW QUESTION 432
- (Exam Topic 3)
To which stage of development do Infrastructure as Code principles relate?

A. manual configuration
B. service provisioning
C. physical deployment
D. requirement collection

Answer: B

NEW QUESTION 433

- (Exam Topic 3)

A developer is developing a web application that uses username and password to authenticate to the next service. The user credentials must be available at any
time in the application. The developer must choose and implement a secure method of storing the authentication credentials that are used in the automation code.
Which password handling method must be used to minimize the security risk?

A. Store the username and password in a separate configuration file.
B. Store the username and password in a vault.

C. Store the passwords in a dictionary.

D. Store the username and password in code.

Answer: B

NEW QUESTION 436
- (Exam Topic 3)
What is a benefit of using a code review process in application development?

A. accelerates the deployment of new features in an existing application
B. provides version control during code development

C. enables the quick deployment of new code

D. eliminates common mistakes during development

Answer: D

NEW QUESTION 439

- (Exam Topic 3)

Which Python function is used to parse a string that contains JSON data into a Python dictionary?
A. json.dumps()

B. json.to_json()

C. json.parse()

D. json.loads()

Answer: D

Explanation:
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loads() function is present in python built-in 'json' module. This function is used to parse the JSON string.

NEW QUESTION 442

- (Exam Topic 3)

A group of software developers wants to improve its collaboration with the operations team. The group wants to deliver release-ready code that merges code
changes back to the main branch and runs the automated testing as often as possible. Which DevOps concept does this scenario represent?

A. continuous delivery

B. version control

C. continuous integration
D. continuous deployment

Answer: C

NEW QUESTION 446
- (Exam Topic 3)

import reguests
froem reguests.auth import HTTPBasichuth
BASE_URL = 'ht:tps://<IP ADDRESS or FQDN>'
AUTE_URL = '/dna/system/api/vl/auth/token’
TOEEN = "<ICEKEN>'
headezrs = ('"X-Auth-Token': TCKEN, 'Cocazent-Type 'application/ison’
DEVICES COUNT TURL = "/dna/intent/api/vl/network-device/count’
DEVICES URL = '/dna/:intent/api/vi/netwocrk-device’
DEVICES BY ID URL = '"/dna/intent pi/vi/neswork-device/’
def devices func(headezs):
I response = reguests.get (BASE URL + DEVICES COUNI URL,
neaders = headers, verify=False)
return responae.json() ['zesponase’’
def devices test (headers, query string params):
respense = reguests.get (BASE URL - DEVICES URL, headers = headers,
params ® guery string params, verify=False)
return response.dsoni) ["response’
def devices infc(headers, device_id):
c response T reguests.ge: (BASE_URL = DEVICES BY ID URL = gdevice ig,
headers = headers, verify=False)
return response.jscenl) [‘response’]
print (devices func(headers))
: print (devices test(headers, {}))
print (devices _test(headers, {'hestname’: "CSRiIEv-Ql.devnez.local'})]
response = devices test(headers, {'platformid®: °*CO300-40X'})
print (devices_info(headers, response(0]['1d’]))

Refer to the exhibit. An engineer prepares a script to automate workflow by using Cisco DNA Center APIs to display:
total count of devices

list of the network devices

information of one device with a hostname filter

What is displayed in the final step after the Python script is executed?

A. information about a device of type C9500-40x.

B. filtered results by the hostname and the platformld C9500-40X
C. information about the test devices

D. list of devices with platformld C9500-40x

Answer: B

NEW QUESTION 451
- (Exam Topic 3)
Which two situations align with infrastructure as code principles? (Choose two.)

. honreplicable snowflake servers

. release versions to specific hardware
. maximized configuration drift

. easily reproducible systems

. repeatable processes

mooOw2>»

Answer: BD

NEW QUESTION 454
- (Exam Topic 3)
A company wants to automate the orders processed on its website using API. The network device that supports the solution must:

> support XML encoding
> support distributed transactions

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 200-901 dumps in VCE and PDF From SurePassExam
Ll SurePass https://www.surepassexam.com/200-901-exam-dumps.html (406 New Questions)

> support YANG data models
> be support software redundancy

Which requirement prevents the use of RESTCONF for the solution?

A. software redundancy
B. YANG data models

C. distributed transactions
D. XML encoding

Answer: C

NEW QUESTION 457
- (Exam Topic 3)
What is a benefit of a CI/CD pipeline for infrastructure?

A. removes manual errors

B. enables manual steps

C. removes the need for operations
D. provides variety for deployments

Answer: A

NEW QUESTION 461
- (Exam Topic 3)

Chent Sener
1
-
Step 1 POST levents
Step 2 GET imessages/<messageks> <3
i Step ¥ Response Imessages/cmessagelios
E
Step 4° GET fveam-memberships Meamid-<ieamid>
Loop
-
Step 5 POST imessage
Text
-
Step & Reaponie meisage
-

Refer to the exhibit. Which code snippet represents the sequence.

A.
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@flask _app.route('/events', methods=('POST"'])

def webex teams webhook events():

json_data = request.json|'data‘]

response = reguests.get (MESSAGE URL +
json_data['id'], headers=headers)

1f response.json()['text'] == ‘Alert':

responsée = requests.get (TEAM MEMBERSHIPS URL,
headers~headers, params=params)

for info in response.json()['items']:

data = ('personld’: info|'personId'], ‘text’:
'Alert'}

response = requests.post (MESSAGES URL,
headers=headers, params=params)
B. @flask_app.route('/events’, methods=['BOST'])
def webex teams webhook events():
json_data = request.json|'data']
1f response.json()('text’] == 'Alert':

response = requests.get (MESSAGE URL +
“scn_data('id'], headera=headers)

response = regquests.get (TEAM MEMBERSHIP3 URL,
headers=headers, params=params)

for info in response.json()['items']):
data = ('personld’: info['peraonid'],
"text': "Alert’)

response = requests.post (ME3SAGES URL,
headers=headers, carams=params)
C-Eflaak_app.rauta{'!eventn', methoda=["POST"])
def webex teams webhook _events():
json_data = request.json|'data’]

response = requests.post (ME33SAGE_URL +
cson_data["id’']. headers=headers)

1f response.json() ['text'] == 'Alert':
for info in response.jacn()['items’]:

response = requests.get (TEAM_MEMBER3HIFS_URL,
headers=headers, params=params)

data = {'peraocnld’: info['pcrsnn[d'], 'text':
*Alert')

response = requests.get (MESSAGES URL,
headers=headers, params=params)

@flask app.route('/events', methods=['POST"'])
def webex teams webhook_events():
json_data = regquest.json|'data’]

response = reguests.get (TEAM MEMBERSHIPS URL,
headers=headers, params=params)

1f response.json()["text'] == 'Alert':

response = requests.get (ME33SAGE URL +
Sson_data('id'], headers=headers)

for i1nfo in response.jscon()['items']:

data = ('personld': info['personld'], "text':
‘Alert'}

rasponse = regquests.post (MESSAGES URL,
headers=headers, params=params)

Answer: C
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NEW QUESTION 463
- (Exam Topic 3)
Which protocol is used for clock synchronization between network devices?

A.FTP
B. NNTP
C.BGP
D. NTP

Answer: D

Explanation:
Network Time Protocol (NTP) is an internet protocol used to synchronize with computer clock time sources in a network. It belongs to and is one of the oldest parts
of the TCP/IP suite. The term NTP applies to both the protocol and the client-server programs that run on computers.

NEW QUESTION 466
- (Exam Topic 3)
Which traffic is handled on the control plane?

A. BGP
B. SMB
C.NTP
D. NETCONF

Answer: A

NEW QUESTION 471

- (Exam Topic 3)

An engineer must configure Cisco Nexus devices and wants to automate this workflow. The engineer will use an Ansible playbook to configure devices through
Cisco NX REST API. Before the code is run, which resource must be used to verify that the REST API requests work as expected?

A. Cisco Open NX-OS

B. Cisco NX-OS SDK

C. Cisco Learning Labs

D. Cisco Code Exchange for Nexus

Answer: C

NEW QUESTION 473
- (Exam Topic 3)
Which OWASP threat occurs when untrusted data is supplied as input to an interpreter as part of a command or query?

A. broken authentication
B. data exposure

C. injection

D. cross-site scripting

Answer: C

NEW QUESTION 478

- (Exam Topic 3)

An engineer needs to retrieve a list of locally available Firepower Threat Defense upgrade packages by using the Firepower Management Center REST API. The
engineer uses a GET request with the URL:

lapi/fmc_platform/v1l/updates/upgradepackages/f413afeb-e6f6-75f4-9169-6d9bd49s625e

What does “f413afeb-e6f6-75f4-9169-6d9bd49s625e” represent?

A. container UUID
B. package UUID
C. domain UUID
D. object UUID

Answer: B

Explanation:

"GET upgradepackages Request Type: GET

Description: Retrieves a list of locally available Firepower Threat Defense upgrade packages, including major upgrades, maintenances release upgrades, and
hotfixes.

URL: /api/fmc_platform/v1/updates/upgradepackages

URL for GET by ID: /api/fmc_platform/vl/updates/upgradepackages/{package_UUID}" Source:
https://www.cisco.com/c/en/us/td/docs/security/firepower/640/api/REST/Firepower_Management_Center_RES

NEW QUESTION 482
- (Exam Topic 3)
Refer to the exhibit.
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Firewall A Firewall B Jpr—
—— Incoming E
I|1c0rr1ingd_’f’10ulgoing e TN Dutgﬂing_’f” interface
interface gyl interface - L. interface -l’l
\ / server B
= M 4
Switch A
E VPN Tunnel
[ = ll
°TH =
Developer ServerA

A developer can access the TLS REST API on server A, but cannot access the API on server B. The developer can ping server B. When the developer performs a
packet capture on the TLS REST API port on server B, the capture shows that the packet arrived and the server responded. What causes the issue?

A. Port 80 is blocked on the outgoing interface of firewall B.
B. Port 443 is blocked on the outgoing interface of firewall A.
C. Port 443 is blocked on the incoming interface of firewall B.
D. Port 80 is blocked on the incoming interface of firewall A.

Answer: C

NEW QUESTION 484

- (Exam Topic 3)

An engineer needs to collect information about 20,000 Bluetooth clients using the Cisco Meraki API. The API returns only 1,000 results. One of the HTTP response
headers has the data:

Link: https://api.meraki.com.info/api/vO/networks/ABC/bluetoothClients?perPage=1000&startingAfter=1000>;rel="n

Which RFC is implemented by the API to apply the restriction?

A. RFC 5988 — Web Linking

B. RFC 5890 — Response Constraints

C. RFC 5005 - Feed Paging and Archiving
D. RFC 5446 — Content Limits

Answer: C

NEW QUESTION 485
- (Exam Topic 3)
Which protocol runs over TCP port 8307

A. NETCONF
B. Telnet

C. RESTCONF
D. HTTP

Answer: A

NEW QUESTION 489
- (Exam Topic 3)
Which HTTP error code series relates to redirection?

A. 400
B. 500
C. 200
D. 300

Answer: D

Explanation:

1xx - Informational: The server has received the request and is continuing the process

2xx - Successful: The request was successful and the browser has received the expected information 3xx (Redirection): You have been redirected and the
completion of the request requires further action

4xx (Client Error): The website or the page could not be reached, either the page is unavailable or the request contains bad syntax

5xx (Server Error): While the request appears to be valid, the server could not complete the request

NEW QUESTION 494
- (Exam Topic 3)
Why would a developer compare a current version of code to a previous version?

A. to provide the single source of truth

B. to troubleshoot code failures
C. to track who made a change
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D. to aid in collaboration

Answer: B

NEW QUESTION 496
- (Exam Topic 3)
What is the purpose of grouping devices in a VLAN?

A. Devices communicate as if they are connected on the same wire.

B. Multicast network traffic is limited to the VLAN connected devices.

C. Unicast messages are limited to the clients connected on the same VLAN.

D. Network traffic is load balanced between the devices connected to the VLAN.

Answer: B

NEW QUESTION 497
- (Exam Topic 3)

5 /vi/meetings

title
strng Regueed
Meeting title. The title can be a maximum of 128 characters long.
agenda
sinng

Meeting agenda. The agenda can be a maximum of 2500 characters long.
password

start and end cannot be shorter than 10 minutes or longer than 24 hours.

Body Parameters A

sirng
Meeting password. Must conform to the site's password complexity
settings. Read password management for details. If not specified, a random
password conforming to the site's password rules will be generated
automatically.

start

stnng Recured
Date and time for the start of meeting in any ISO 8601 compliant format.
start cannot be before current date and time or after end. Duration
between start and end cannot be shorter than 10 minutes or longer than
24 hours.

end

siring  Reoursd

Date and time for the end of meeting in any ISO 8601 compliant format. end

cannot be before current date and time or before start. Duration between

Refer to the exhibit. A bespoke meeting booking system must be integrated with Cisco Webex so that

meetings are created automatically. Drag and drop the code from the bottom onto the box where the code is missing to create a sample meeting. Not all options

are used.
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import requests, jaon

= "eyJhbGe ... yJbNE'

headera = |
*Authorizaction': f£'Bearsr {token)',
*Content-Type': 'application/json'
}

paylead = |
"title™: "DevNet Webex Discussion”,
"password™: “"AGrtgl2id”,
"start®: "2020-11-10T15:00:002",
“"end": "2020-11-10T17:00:002",
"enabledAutoRecordMeeting™: Falae,
"allowAnylUserTocBeCoHoat™: False

response = requests.request(” *, £'{BASE_URL)/

headers=headers, data=json.dumps|( )

print (response.text.encode('utfg’))

payload PUT token
v1:1+#r1ﬁq uLfﬁ##r“rgﬁ . fDET
A. Mastered
B. Not Mastered
Answer: A
Explanation:
import redqueats, json
token = 'eyJhbGe ... yJbHBE®

headers = |
'Authcrization': f'Bearer {tcken}',
'Content-Type': 'application/jsen’

}

paylead = |
"ticle™: "DevNet Webex Discussicn”,
"password": "AGrrtgl23id4”,
"astart™: "2020-11-10T15:00:002",
"end™: "2020-11-10T17:00:00Z",
"enabledhAuteoRecordMeeting™: False,
"allowhAnyUserToBeCcHost™: False

}

response = reguests.request(” [ POST

— i Rl e -

", £'{BASE_URL)/ | v /mearirn

3%

headers=headers, data=json.dumps|( payload 3]

print(response.text.encode('utfg’))

payioad | puT ok
4

i P ——

vl/mesrings : POsET

| v1/meeting

NEW QUESTION 498
- (Exam Topic 3)

A company requires a new platform to store large volumes of log data that is generated in their assembly plant. The platform must be scalable, so the underlying
technology must provide a path for fast deployment of new nodes for data and indexing? The data contains sensitive information, so specialist encryption tools

must be used to secure the data. Which application deployment model meets the requirements?
A. edge

B. private cloud

C. public cloud

D. hybrid cloud

Answer: D

Explanation:

A hybrid cloud combines the benefits of both a private cloud, which offers the ability to store sensitive data in a secure, dedicated environment, and a public cloud,
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which offers the ability to scale quickly and easily by deploying new nodes as needed. With a hybrid cloud deployment, you could use specialist encryption tools to
secure the sensitive data in the private cloud, and then take advantage of the scalability and flexibility of the public cloud to handle the large volumes of log data.
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